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Question Id : 5330725932 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension



The following table shows the number of Votes polled (in lakh) during opinion polls that were
conducted to know about the popularity of four [T Companies A, B, C and D, in alternate months,
namely, January, March, May, July, September and November, in a given year. All the people who
participated in the opinion poll each month have definitely casted their vote in favour of any of the
four companies. Based on the data in the table, answer the questions that follow.

Month-wise Details of Votes Polled (in lakh)

it Number of Votes polled for company (in lakh)
A B C D
January | 15 | 25 | 3.0 4.0
March | 10 | 3.0 | 20 4.0
May 10 | 10 | 25 3.5
July 15 | L0 | 25 4.5
September| 20 | 20 | 35 4.5
November| 3.0 | 20 | 15 4.0

Sub questions

Question Number : 1 Question Id : 5330725933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The number of votes polled in favour of A and C, taken together in January, May and September

is approximately % less than the number of votes polled in favour of B and D, taken
together in March, July and November.

(1) 27

2 37
(3) 44
(4) 18
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330725934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What i the ratio of percentage decline in votes of B in May in comparison to January to the
percentage decline in votes of C in November in comparison to January ?
(1) 6:7

Question Number : 3 Question Id : 5330725935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In all the six months combined % more votes are required by company A to equal the
total votes polled by company D.

(1) 150

(2) 145
(3) 133
(4 8
Options :
1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 5330725936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per table, in the month of July, the votes of D and C are in the ratio 9 : 5. If the votes of D remain
same, then the votes of C should increase by % to make the ratio 5: 9 (in the month of

July).
(1) 80
(2) 124
(3) 144
(&) 224
Options :

1.1
2.2



3.3
4.4

Question Number : 5 Question Id : 5330725937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the month of September, the additional number of votes needed b}f Aand B togelher to get 7%
more votes than D 1s

(1) 91300
(2) 81500
(3) 14400
(4) 71200

Options :
1.1
2.2
3.3
4.4

Question Id : 5330725932 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 5330725933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A STC % & ¥ ST, W S et 21 Tt Sfed U Wl 1 S B &R D o 94 H Wi, ek A
T 1 e <l 0 W a HE § e % %9 B

(1) 27

2 37
(3) 44
(4) 18
Options :
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 5330725934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1) 6:
/)

-

7
) 7:6
(3) 6:5
() 4:3
Options :
1.1
2.2
3.3

4.4

Question Number : 3 Question Id : 5330725935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 150

(2) 145

(3) 133
(4) 88
Options :
1.1

2.2

3.3
4.4

Question Number : 4 Question Id : 5330725936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 80
Q) 14
(3) 144
(4] 224

-

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330725937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072237
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330725938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following best exemplifies the zero transfer of learning ?

(I) Using knowledge of one programming language to another similar language
(2) Applying techniques of learning in basketball to improve skills in soccer

(3) Using skills acquired in carpentary to excel in painting

(4) Applying a mathematical problem solving method to physics problems
Options:

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 5330725938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 7 Question Id : 5330725939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following channels of Swayamprabha are under the Consortium for Educational
Communication (CEC), New Delhi ?

(A) Channel 11

(B) Channel 1

(C) Channel 15

(D) Channel 3

(E) Channel 6

Choose the correct answer from the options given below :
() (A) (8 (C)and (B) Orly
) (C) (D) and (E) Only
(3) (A)and (C) Only

(4 (8), (D) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 7 Question Id : 5330725939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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&

(A) =11
(B) 1
(C) = 15
(D) 3
(E) =6
7 feu o ol # 4 W S T
(1) (A), (), () R (B

(2) ¥ (C), (D) & (B

() A (A) & (C)

(4) 4 (B) (D) 3 (E)
Options :

1.1



2.2
3.3
4.4

Question Number : 8 Question Id : 5330725940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(App) (Use)
(A) Labster ()  Real-time polling
(B) Google Earth (I)  Virtual labs and simulations
(C) Kahoot (II) Virtual field trips and geographic exploration
(D) Poll Everywhere (IV) Online quizzes and assessments

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(IL), (C)-(I1), (D)-(1)
(2) (A1), (B)-(I), (C)-(IM), (D)-(IV)
(3)  (A)-(I), B, (C)-1v), (D)-{)
(4)  (A)-(I), (B)-(T), (C)-(L), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 5330725940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gt - 1 % a1 gei - 11 1 e =hife

et - 1 e - 11

(qw) (37EmT)
(A) oo () dreEfe wagH
(B) T 19 (1) STt JErTETerd SiY ST
(C) g2 (II1) ST & T2 AR qRifers Tago
(D) e Taeear (V) siere wefed it qeie
A=l feu U faeredl # | WE I 1 T4 HIC ;

(1) (A)(LV), (B)-(IT), (O)-(11), (D)-(I)
(2)  (A)-D), (B}-(I), (CHIIL), (D)-(IV)
(3)  (A)-(1D), (B)-(D), (©)-(1V), (D)-1)
(4)  (A)-(), (BI(I), (CR(I), (D)-(1V)
Options :

1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 5330725941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants to jntegrate SWAYAM into the curriculum to enhance learnjng. Which of the
following benefits of SWAYAM should the teacher highlight to the students ?

(A) Free access to quality educational resources

(B) Opportunity for live interactions with instructions
(C) Peer-reviewed assignments

(D) Sell-paced learning

Choose the correct answer from the options given below :
(1) (B) (0 and (D) Only

(2) (A) and (D) Only
() (D) Only

(4) (A)and (B) Only
Options:

1.1

2.2



3.3
4.4

Question Number : 9 Question Id : 5330725941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 10 Question Id : 5330725942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The reduced ability to remember information acquired after the onset of Amnesia is known as :
(1)  Working memory

(2) Retrograde amnesia

(3)  Phonological loop
(

4)  Anterograde amnesia

Options :
1.1
2.2
3.3
4.4



Question Number : 10 Question Id : 5330725942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330725943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tendency of people being observed to act differently than normal as a result of their awareness
of being monitored, refers to :

(I)  Subject reactivity

(2)  Observer bias

(3)  Observer drift

(4)  De briefing

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330725943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 5330725944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful for depicting
proportions ?

(1) Line charts

(2) Histograms

(3) Pie charts

(4)  Scatter plots

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 5330725944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330725945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the main pre-occupations of quantitative researchers
(A) Measurement

(B) Causality

(C) Description

(D) Generalization

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (€) and (D) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 5330725945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) < (A), (B) 3R ()

(2) ¥ (B), (C) ¥R (D)

(3) %A (A), (B) 3R (D)

(4) F (A), (C) 3R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330725946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order.
(A) Sixth decile

(B) Median

(C) Third quartile

(D) o7t percentile

Choose the correct answer from the options given below :
(1) (A), (D) (B), (C)

(2) (), (Q), (A), (D)

(3)  (B), (A), (D), (©

4) (A), (©), (D) (B)

Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 5330725946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freAferfad wifenTa ATl i 9¢d s H SJefed #1
(A) W1 YHF

(B) HIfeIERT

(C) drew Iqde®

(D) 67 =1 IEHF

e fou 7o foshedl § | W& S F 997 Fifau
(1) (A), (D), (B), (C)
(2)  (B), (), (A) (D)
(3) (B), (A), (D), (©)
(4) (A) (©), (D) (B)
Options :
1.1
2.2

3.3
4.4

Question Number : 15 Question Id : 5330725947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List -1 List - II
(Total sum of squares (TSS) (R? of Regression Model)
and Residual sum of squares)

(A) RSS=5,TSS =20 I 0.62
(B) RSS=5,TSS =25 (I 075
(Im 0.8

(C) RSS=10,TSS =25
) RSS =12, TSS = 32 (IV) 0.6

(D
Choose the correct answer from the options given below :

(D) (A0, BRI, (OHII), (D)-(IV)
(2)  (A)-(ID, (B)-(), (©-1V), (D)-0)
@) (AHI), B-1V), (OHD), (D}I)
@) (A)HIV), (B)-(1), (C)-(I), (D)-(IL)

Options :
1.1



2.2
3.3
4.4

Question Number : 15 Question Id : 5330725947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 o |9 Gelt - 11 el e
Tt - I T4t - 11

(i &1 e A (AT, ) 3R (WTERTR WIS a7 A (RY)
&t BT SafiTE I ( SMTLTATH. )
(A) RSS=5,TS5=20 0 0.62
(B) RSS=5,T55=25 () 0.75
(C) RSS=10, TSS = 25 (I 0.8
(D) RSG =12, TSS =32 (IV) 0.6
A= feu o fosred # € WE 3T H T Fifu ;
(1) (AHD), (B(W), (C)-(IH), (D)-IV)
(2) (AR, B)-(m), ©-1V), (D)-0)
(3) (AHI), B)LV), (OA1), OHI)
(4)  (ARIV), (B)-(), (C)-(I), (D)-(Im)
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 5330725948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Substitute for the gestural communication over the Internet is the use of :
(1) Emoticons

(2) Infographics

(3) Photographs
(

4)  Anonymous attachments

Options :
1.1
2.2
3.3



4.4

Question Number : 16 Question Id : 5330725948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g TX WihTash T 1 fasheq frme sudm €7
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(2) G -
(3) ==

)
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 5330725949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The production and distribution of news by ordinary people is referred to as :
(1) Popular journalism

(2) Common journalism
(3

)  Citizen journalism
4)  New journalism

Options:
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 5330725949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR G 5T TR oM 3R faer 1 frg wy § gafifa feam smar €2
(1) ©HRYT TR

(2)  HMHA TR
(3) MR TR
(4) TR
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330725950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The important characteristics of Internet communication are :
(A) Absence of sub-media

(B) Multi-data networking

(C) High fidelity realism

(D) Sophisticated reciprocity

(E) Non-interactive

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (), (O) and (D) Only

(3) (C), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 5330725950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(A) Z9-wifea =1 9 B
(B) ®g-gd Heafhn

(C) 3= Tyl gUneane
(D) OfTsRd e
(E) TR-3== Tehpamensh
= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) = (A), (B) 3R (Q)
(2) e (B), (C) 3R (D)
(3) = (C), (D) ¥R (E)
(4) A (A), (D) 3R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330725951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The features of media audience are :

( Inaccurate media coverage may mislead active audiences

(B) Audiences consume media content on the expectation of reward

(C) Infotainment can be a dysfunction

(D) Audiences are uniform for all media

(E) The new media do not provide variety of contents to audience

Choose the correct answer from the options given below :

() (A), (O and (D) Only

(@ (A), (B) and (C) Only

(3 (C), (D) and (E) Only
@)

4) (A), (D) and (E) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 19 Question Id : 5330725951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(C) g foIe Wk gfeskan & Hehell & |
(
(

D) smmes G wifean % fom awH )
E) a-vifem ammes &1 favaer #1 fafawm vem 7 #:3

9 feu o fawred | 9 |E 3 T Ff
(1) a4 (A), (C) 3R (D)
(2) % (A), (B) 3 (C)
(3) % (C), (D) R (E)
(4) Fad (A), (D) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 5330725952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - I List - II
(Medium) (Characteristic)
(A) Video-on-demand (I
(B) Datacasting on Internet (If) “There and then” production
(€) Cinema (III) Nowness
(D) Television (IV) Invocational
Choose the correct answer from the options given below :

(1) (A)-0), (B}-(I), (O-(Im), (D)-IV)

)  Absence of being live
I

(2) (A1), (B)-(D), (O-(1V), (D)-[O)
(3)  (A)-(I), (BHIV), (COHD), (D)-(I)
) (A)-(IV), (B)D), (C)-(I), (D)-(II)
Options :

1.1

2.2

3.3

4.4

Question Number : 20 Question Id : 5330725952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 o W19 gt - [ k1 Ao =wife

et -1 gt - 11
( Tea ) ( fergrermmd )
(A) W R Fifea ()  Gien 99RT A 81
(B) 3FITIE WY STHITET (II) Tchrel gor
(C) o= (IIT) SdHTAHRITTR
(D) ZeifersH (IV) &

A= fou 7o fasedi § 9 W& W F 999 Ff9
(1) (A)D), (B)-(I), (C)-(I), (D)-(IV)

(2) (A1), (B)-(ILI), (C)-(IV), (D)-(I)

(3) (A)-(I), (B)-(IV), (O)-(I), (D)-(IT)

(4)  (A)-IV), (B)-(I), (C)-(II), (D)-(II)

Options :

1.1



2.2
3.3
4.4

Question Number : 21 Question Id : 5330725953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series given below :
2710, 30, a8, 130, ?

(1) 200
(2) 222
(3) 100
(4) 175
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330725953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e feu Tu 9ot F9 | 7T UE 1 Il ST ;
2,10, 30, 68; 134, 7
(1) 200
(2) 222
(3) 100
(4) 175

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330725954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A man deposil‘ed some amount of money ina bank at some simple rate of interest for 3 years. Had
he depnsited the money at 2% higher rate of interest, he would have fetched ¥ 360 more. Find the
amount depnsited in the bank.

(1) 6200
(2) %7000
(3) 6500
(4) T 6000
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 5330725954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 3 i W 5 TV oredt e el R 3 ) o Ferw ot o1 G 3 R 0 2% SR A
R T F AR 1 30 A 360 S A e &y o 5w 0 9fy 7

(1) %6200

(2) 7000
(3) 6500
(4) 6000
Options:
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330725955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A man can do a piece of work in 8 days and another man can do the same work in 10 days. How
long should it take both A and B working together but independently ?
(1) 6days

4
(2 45 days

1
(3) 4§ days

(4) 5% days
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330725955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ot ol v a8 e 0 o e & i G0 e s A 0 0 FA R | A
A ST B 1 1Y R A B e o 0 feRe fe e 2
(1) 6f

4
o 4 f

|
(3) 45 fed

1
(4) 55 fe

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 5330725956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Find the value of the fnllnwing expression :

(0.22x 0.22 % 0.22) +(0.022x0.022x0.022)
(0.66X0.66X0.66)-+(0.066x0.066X0.066)

(1) %7
2 Vs

@ Y

@ Yy
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330725956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafEa =ik & 9H =1 a1 @

(0.22x 0.22 % 0.22) +(0.022x0.022x0.022)
(0.66x0.66X0.66)-+(0.066x0.066X0.066)

1) Yy
) Ys
G Y
@ 1,

Options:
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 5330725957 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

[f "CONSTABLE' is coded as 91 and ‘STABLE' is coded as 59, then how ‘PORTABLE' shall be
coded ?
(1) 89
(2) 109
(3) 111
(4) 110

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 5330725957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7fc ‘CONSTABLE' 3 91 3% 'STABLE' 1 59 #1 41 S & 79 ‘PORTABLE' %1 4 #e fon
s ?

(1) 89
) 109
()

(4)

s

3 111

4) 110

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330725958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

) Anup is a member of Animal Rights Soc’mty, then he opposes horse racing, Anup opposes
horse racing, therefore, he is a member of Animal Rights Society”. Which fallacy is committed in
the above argument ?

(I) Hasty generalisation

(2) Inappropriate authority
(3)  Affirming the consequent
(

e

) Denying the antecedent

Options :



1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330725958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"3 o Y] SRR SRS R B 9 TS o o o 2| SO IS fery G,
Tafere o2 W SR S 1 wew Bl S o A A g A e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 5330725959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement-"No squares are circles” is given as true, which of the following statements can be
immediately inferred to be false.

(A) Some circles are not squares

(B)  All squares are circles

(C) Some squares are circles

(D) Some squares are not circles

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

() (4),(8)and (D) Only

Options :

1.1

2.2



3.3
4.4

Question Number : 27 Question Id : 5330725959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 15 ot ], 90 el ¢ U G WV I, AT § -9 e dcHicrs €9 Y S
T 1 el & 7

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330725960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following two propositions can neither be both true together nor can they be false
together ?

(A) All squares are rectangles

(B) Some squares are rectangles

(C) No squares are rectangles

(D) Some square are not rectangles

Choose the correct answer from the options given below :

(I)  (A) and (D) Only

(2) (B)and (D) Only
(3) (C) and (D) Only
(4) (A)and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 5330725960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas 5 8 FH-1 2 vemfea 7 9 me-me 7 & 99 € 79 D9-9 S 2 T 87
(A) T o, o A €

(B) T, A

(C) 13 oft o, e T A ©

(D) %, 0 T 20 &

A few T forredt H ¥ WA I T HC

Options :
1.1
2.2
3.3
4.4



Question Number : 29 Question Id : 5330725961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From the following identify the propositions that are logically equivalent.
(A) No plants are animals.

(B) No animals are plants.

(C) All plants are non-animals.

(D) All non-animals are plants.

Choose the correct answer from the options given below :

(I) (A) and (D) Only

() (B) and (C) Only

(3) (A), (B) and (C) Only
(4) (A)and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 29 Question Id : 5330725961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiae o 9 7 wiqafeadi =i ge=m i S e gie ¥ guged € -
I3 off gt 9] el 2 2 |

(B) @IS ¥t Wy dien e Eren ¥

(C) Toft I TR Ty B €

(D) |eft TR-T] et e 7

e fou o faedl § © WE S F I FIfAC
(1) %9 (A) 3R (D)

(2) e (B) 3 (C)

(3) e (A), (B) 3R (C)

(4) T (A) R ()

Options :

1.1

2.2



3.3
4.4

Question Number : 30 Question Id : 5330725962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per classical Indian School of Logic (Nyiya), verbal testimony (Sabda pramina) includes :
(A) Only injunctive sentences

(B) Wards of a scripture

(C) Waords of any teacher

(D) Words of a trustworthy person

Choose the correct answer from the options given below :

(1) (A)and (C) Only

(2) (B) and (D) Only
(3) (A)and (B) Only
(4)  (A) (B), (C) and (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 30 Question Id : 5330725962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WTETT RS TR 7 (=I7) o STER Y68 YT # e 2 €
(A) ad sfeened s

(B) WY F ¥Ieg

(C) Tt off forerer o vreg

(D) fovamHra =afe/ a1 T80 & ¥

T fou o fasedi § | WE 3™ F1 T999 FIEW

(1) 9 (A) 3R (C)
(2) 9 (B) 3R (D)
(3) e (A) ¥R (B)
(4) (A), (B), (C) ¥R (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330725963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computing, which of the following is a program downloaded and installed on a computer that
appears harmless, but is in fact, malicious.

1) Trojan Horse

(1) Troj

(2) Time Bomb
(3) Worm
(4)

4)  Logic Bomb

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330725963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ke /e 8 3 1 T S R RS R YT S R SRR F i ¢ ] o

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330725964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following pair of acronyms and their expansion is incorrectly matched ?
(1)  SIM - Subscriber Identity Module

(2) SMTP - Simple Mail Transfer Plan

(3) SQL - Structured Query Language

(4) URL - Uniform Resource Locator

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330725964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gftavit weg &R 39 fomar @1 fe1 o @ =69 m g gifoa w8 %2
(1) UH.ETH.-HoHhEer ezl Argga

(2) UHUHI-Ra-Ae 2w

3) UH.H.UA.-LFE Fa A

(4) F.IR.TA-FAEH TEHE @Rt

Options:

1.1

2.2

3.3
4.4

—

Question Number : 33 Question Id : 5330725965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dentify the correct order of the following storage devices A-D as per their increasing data storage
capacity :

(A) DVD

(B) Hard Disk

(C) CDROM

(D) Blu-Ray Disk

Choose the correct answer from the options given below :

0 © (), (D) )

@ (&) © D) 6
) ), (D) ©) (&)
@ (©, (A) ®) D)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 5330725965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e RO ikl A-D w1 <1l SN0 &l % el 9HM 3 i Teel HIfC ;
(A) EraiE.

B) @ e

(C) i E1&m AT,

(D) =1 fewr

A feu e foreredi # | W& IW F T FIWC -

(1) (©), (A), (D), (B)

(2 (A), (), (D) (B)

(3) (B), (D), ©) (4)

4) (€, (A), (B) (D)

Options:
1.1
2.2
3.3
4.4



Question Number : 34 Question Id : 5330725966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in the context of Web Conferencing ?
(A) It uses the Internet to permit conferencing to take place.

(B) Multiple computers are used with this system, all connected over the Internet.
(C) Delegates cannot leave the conference once they join.

(D) Itis carried out in real-time.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) (A),(B)and (C) Only

(3) (C) and (D) Only

(@) (A), (B)and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330725966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 IR F e F A A A IR A FR W €7

(A) T8 FRIET BH 1 AT <7 % fofu 3eTie o T i €|

(B) T Woe § =g FORd 1 A e e e, g e A e e €
(C) T IR FFEE H wnfe 21 F a1 wifAfy (Sfaten) & 9ig 76 gad €
(D) %@ arsferss w94 (gt 2rh) o 8t €

9 feu 70 fgsedl § | WE I H I 9
(1) e (A) ¥R (B)

(2) ¥& (A), (B) N (C)

(3) 9@ (C) ¥R (D)

(4) e (A), (B) 3R (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 35 Question Id : 5330725967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(ICT Term) (Meaning)
(A) Software () The software that accesses and displays pages on the web.

(B) Web Browser (II) A mechanism that isolates a network from the rest of the Internet,
permitting only specific traffic to pass in and out.

(C) PDA (II) - Asetof computer programs that enables hardware to perform different
tasks.

D) Firewall (IV) A small mobile computing device.

(
Choose the correct answer from the Uptiuns given below :

(1) (A1), (BH), (C-1V), DK)
(@) (A, B)-0), (©-1V), (D)
(3) (AR, (BH1), (CH1V), (DK()
(@) (A)T), (B, (C-T), D)-IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 5330725967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el - 1% T el - 11 e i

-1 T -1

(MmHATE) (o)
(A) TrRR () o9 T Yoo 3 T 1 39 R FeRiq 0 o Wwam
(B) IR () T FA (o S edh H I G 3o W foe W ke fofie
€ W (I11) gt ST 21 T B2 S grea o v 7 6 0 A o €
(D) TR (IV) T B¢ A dfteher i
7 feu T foraredl o © WE I T 0

(1) (A0, (BRI, (CHIV), (DH)
AR, (B)-(), (C-{V), (D)-{I)
AR, (BID), (CHIV), (OHI)
A, (BHI), (CHI), (DY)

Options :
1.1
2.2
3.3
4.4

@ |
3
@

Question Number : 36 Question Id : 5330725968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Excess presence of which one of the fu]lowing in drmking water can elevate the blood pressure of
humans ?

(I) Sulphate
(2) Zinc
(3) Lead
(4) Copper

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 5330725968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfefas § 4 frae Tasa o sifafea fommmm o7 & e ¥ ofs = gad €7
(1) Hee

(2) oM
(3) s
(4
Options :
1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330725969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllawing are released significaml'l}F during combustion of coal ?

Flyash

E) Ammonia

Choose the correct answer from the options given below :
(1) (A), (B)and (C) Only
(A), (B) and (D) Only
(C), (D) and (E) Only
(

(
o)
() (A), (B)and (E) Only

4)
Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330725969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fraa ¥ 75 3 I Fefafad ¥ § F mefs w1 § e a9 §2
(A) T

(B) T

(C) e

(D) TS U

(E) mifam

A= feu T faepedl ® 9 WE S A = He
(1) e (A), (B) &R (C)

(2) = (A), (B) 3R (D)

(3) I (C), (D) 3R (E)

(4) I (A), (B) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 38 Question Id : 5330725970 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Water treatment) (Process)
(A) Primary ()  Removal of wastes with the help of activated charcoal etc.
(B) Secondary (I) Ozonization and disinfection by ultraviolet rays.
(C) Terliary (IT) Removal of large pieces such as stick, stone, rags, plastic etc.
(D) Advanced (IV) Removal after flocculation and coagulation of wastes.

Choose the correct answer from the options given below :
(1) (A}), (BHIV), (CHL), (D)-0)

(2) (A, (BHIV), (CHD), D))

() (AHI), ©)-, ©)-1), (D-IV)

(4)  (A)MID), B)-{), C-(V), (D)-0)

Options :

1.1

2.2

) |
) |
) |

:No



3.3
4.4

Question Number : 38 Question Id : 5330725970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1 % 919 el - 11 7 e i

T -1 T -1

(W Je ) ( wiera)
(A) e () Sd Sree wfe 2 Fema § i 1 g2
(B) faciter (1) S SR RS fR g foge
Q) T () weRg), Teor, o, e anrfe S og Zohe 1 &2
(D) (IV) ORI % S R Ehed % a5 g2
e feu o foered o 9 WE I A T Ffo

(1) (A, BIV), (O, (D)-0)
() (A)-(I), (BHIV), (CHL), D)-(I)
(3) (A1, B)-(ID), (©)-(1), (D)-IV)
(4) (A1), B)-(I), CH1V), O)-{)
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330725971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/are Environmental Hazard(s) due to Geothermal Power Plants ?
(A) Noise pollution

(B)  Production of SO, and NOy

(C) Production of H,S (toxic gas)

(D) Production of CO,

Choose the correct answer from the options given below :

(1) (A) Only

2) (B) and (D) Only

3)  (C) Only

(
(
(@) (A)(8), () and (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 5330725971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frferfead 9§ ®M-8 Tafaroig @ y-ard fasel 993 & #ro 2
(A) =& TgI

(B) SO, 3R NOy %l 3

(C) H,S (fatich ) o1 3emeH

(D) CO, 1 SHTEA

= feu U foeredi § 9 W&t I =TI FfU
(1) Faa (A)
(2) o (B) ¥R (D)
(3) ()
(4) (A), (B), (C) 3R (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 5330725972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fnllowjng indices represents the backgrnund level of noise po]lulion ?
(1) Ly
2) L25
3) Ls

19 Ly

Options :
1.1
2.2
3.3

(
(
(



4.4

Question Number : 40 Question Id : 5330725972 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

frfafed o § 39 o1 gosis TR Wig @i ygun fefd w3 g ?

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330725973 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

A'SWAYAM' course 1s classified based on the engagement of number of and number

of video hours.

)

) months
3)  weeks

) years

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id
Correct Marks : 2 Wrong Marks : 0

semesters

: 5330725973 Question Type : MCQ Option Shuffling : No



‘T TR R 9 Te 9N afed S 9 N ) Ter o SR R g o
e

(1) W

@ W
(3) ¥w®
(@

e ]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 5330725974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient buildings named Ratnasagara, Ratnadadhi and Ramaranjaka were part of which of
the following university of ancient India ?

(1) Takshashila
(2) Odantapuri

(3) Nalanda

(4) Sridhanya Katak

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 5330725974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I ARG T, ToTesl iR Tores T i o o T fovafaemer = om o 7
(1) aefven

(2) sy
(3) A
(4) 4 e

Options :



1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 5330725975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Value based education shall include universal human values such as :
(A) Isolation

B) Non-violence

(C) Peace
(D) Righteous conduct
(E) Punishment to crime

Choose the correct answer from the Dp[iDI‘lS g'wen below :

(1) (A), (B) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A),(C) and (E) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 5330725975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



- aneTfRa fven # @ oo o ger afmfed g9 e, 59
(A) T

(B) fedm
(C) wifd
(D) HHWEY ER
(E) &9 =l €
= fou o fawedl § 9 W& 3 F 92H Fif6
(1) e (A) 3R (B)
(2) %4 (B), (C) 3R (D)
(3) % (C), (D) ¥R (E)
(4) F= (A), (C) 3R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 5330725976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct chronological sequence of the establishment of the colleges mentioned below :
(A) Daly College

(B) St Stephen'’s College

(C) Bengal National College

(D) Bengal Technical Institute

(E) St Xavior's college (Calcutta)

Choose the correct answer from the options given below :

) © E) (D) B), (A)
) (D) (&), B) ® ©)
) (E), (A), ( ©, )
) (B), (4), E), ©), D)
Options :

1.1

2.2

3.3

,.--.‘_;--—\

(
(
(3
(4

)
)



4.4

Question Number : 44 Question Id : 5330725976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e sfeafaa mefaared 1 TmET &1 98 FerEy 9a=d
(A) Sl e

(B) HZ EIHH Hiors

(C) el HeFE Hictst

(D) e i sieege

(E) He Sifoad sictsl (FHerhd)

A feu T ferredl ® | W& ST A =51 il
() (©), (E), (D), (B), (A)

(2 (D) (A), (B), (E), (C)

(3) (B, (A), (B), (O), (D)

(4) (B), (A), (E), (O), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 5330725977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List - II
(Commissions) (Major Recommendation)
(A) Knowledge Commission (I}  Grants for collegiate education
(B) Council of Education (I) Improvement of teaching at the university level
(Pre-Independence)
(C) Hunter Commission (LT) Establishment of 50 National Universities
(D) Kothari Commission (IV) Setting up a university in Bengal
Choose the correct answer from the options given below :
(1) (A1), (BH(I), (), (DY)
@) (AXI, BH1), (C-(V), (D-0
() (AHIL), (BHIV), (OHD), DHI)
(@) (A)-V), (BHD), (CHI), (DK

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 5330725977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1 19 Gt - 11 1 fer =i .

et -1 et -1

( 2T (Ve v )
(A) H &AM () wefermerd foen & fau sem
B) foeoftwg (T qed) () fovafemmerd @ o fiam § guR
(C) = & (1) 50 T forvafermeral =i Tmo
(D) ISR S (IV) &Te o fovafermed 1 s
A feu U fashedi # @ B I F1 =7 R ;
(1) (A1), (BR(I), (O)-(II), (D)-[IV)
(2) (A1, (B)-(ILI), (C)-IV), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)~(I), (D)-(IT)
@) (AHIV), (B)-(I), (C)-(II), (D)-(III)

Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072238
Question Shuffling Allowed : No

Question Id : 5330725978 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer questions that follow.

The beginning of the 15t century opened a new horizon for Oriya poets. It coincided with
the most glotious period of Oriya history. Kapilendra Dev (1434-1467), a worthy son of the Orissan
soil, usurped the kingdom from the hands of the ‘Gangas’, a southem dynasty, and became the
monarch of Orissa. He conquered vast territories of the southern peninsula up to the Krishna river
in the south and Gulbarga in the west, and united people of many languages under one
administration. His victory in a number of battles created an atmosphere of self-confidence in the
Oriyas asa heroic nation, and they directed their attention to improving their language and literature.
As a result, a great poet like Sarala Das emerged from the society. King Kapilendra Dev also
encouraged his people to write in Oriya and he himself included one Oriya poem in his Sanskrit
work Parashurama Vyayoga and accepted Oriya as the state language, in place of Sanskrit and
Tamil, and he issued a number of royal orders in Oriya. His ardent love for Jagannatha and his full
dependence on Him, contributed a lot to bring about a creative atmosphere.

Sub questions

Question Number : 46 Question Id : 5330725979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which monarch is credited with opening a new horizon for Oriya poets at the beginning of the
15t century ?

(I) Kapilendra Dev

(2) Sarala Das

(3)  Tulsidas

(4) Kalidasa

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 5330725980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was one of the significant cultural impacts of Kapilendra Dev's victories and unification of
diverse peoples ?

(I)  The decline of the Oriya language

(2)  The rise of Sanskrit language

(3)  The encouragement of Oriya literary composition

(4)  The prohibition of all regional languages

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 5330725981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kapilendra Dev's martial expediﬁuns expanded Orissa’s dominion upto which fluvial bnundar_v
in the South ?

(1) Godavari
(2) Krishna
(3) Kaveri

(4) Tungabhadra
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330725982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Parashurama Vyayoga, how did Kapilendra Dev show his support for the Oriya language ?
(1) By writing the entire work in Oriya

(2) By including an Oriya poem

(3) By translating it into multiple languages
@

4 B}; prohibitjng Sanskrit and Tamul languages

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 5330725983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kapilendra Dev’s devotion to which deity contributed to the creative atmosphere in Orissa ?
(1) Shiva

)
3) Jagannath
4)  Lakshmi

Vishnu

(
(
(

Options :
1.1
2.2
3.3
4.4

Question Id : 5330725978 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

A2 fe, 0 et Bt e g R W & SR i

e YT & YR 3fean fordl o Frw v o ffest e | 7 S o elfes 4ah 7 o
9 g1 S 3 O P O 9 (1434-1467) 7 < T T % el @ T 9 fen o
T T TN T o o o e o o o et o o et w5 foer e o oo
S S YR 3 SfeRTe 97 TS & G ) R P | 90 ) ¥ S fo Y O YR T o
T 3fea i H AT evary o1 e 3 o IR T S0 S Ol e o S A A ¢
foe) o | fROTARET®Y T W T T S e o o g A e < 1 o A 7 A sfem o
i 3 fom Wiewtea foren o el S oW W 19 R o 6 e e i S a1 &R
T 1 T 3 9 ¥ Fe W a & wW W sfen 3w fo e s e o v ey 9w
o | M ¥ e S Sahe S0 o 33 R o 3 O e e e vt e e

Sub questions

Question Number : 46 Question Id : 5330725979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el YA o SR H e el o e o 7 fofest v iy o o o A e o 7

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330725980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e T i fawrl S ey AR % T B Qe qios 9 e
(1) 3fean v =1 Ty

(2) THERT AT R AR

(3) 3fea wifecae T @ Hreed

(4) | apf el w1 fey

Options :

1.1

2.2

3.3
4.4

Question Number : 48 Question Id : 5330725981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fieis <9 % g HaH e A <o H for 7 T o S o & 1 foram o ?
(1) et

@ F
()
@ g

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 5330725982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHiqer= <d A oy a1 sfea v & yfa FE guelH g ?
(1) fe 9 gui &fa & oA g

(2) U sfem wHfaa wfwfaa #37 F g7

(3) WE-uTuIsd H 39% A 5

(4) TERA SR qHA 9IS % HUY gr

Options :

1.1

2.2

3.3
4.4

)
)

Question Number : 50 Question Id : 5330725983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fier <3 9 T o % Wi 981 3 IS YerIes anel S A § Amer e
(1)
()
(3)
(4

=i

Y

iy

Options:
1.1
2.2
3.3
4.4

-

3|

Museology and Conservation

Section Id : 53307281
Section Number : 2

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072239
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330725984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following performing arts of Odisha is an example of Intangible Cultural Heritage ?
(1) Jatra

(2) Bideshiya
(3

(.

)
) Rangmandapa
g

Nautanki

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 5330725984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa ® @ sfifem =i el FeUH el T giel 330 & 7

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330725985 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
Which of the following was the pioneer of ‘Stylistic Restoration’ in Europe ?
(1)  Sir Gilbert Scott

(2) Adolphe Napoleon Didron
(3) Viollet-le-DUC

(4) William Morris

Options :

1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 5330725985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafes & 9 209 § * Srefima TRIgeR’ 1 STt e o1 ?
(1) & fioee =Hhie

(2) TElew Auifaa festA

(3) AEce-l-gF

(4) faferam =g

Options :

1.1

2.2

3.3
4.4

Question Number : 53 Question Id : 5330725986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following museums one can see the earliest inscribed law - the ‘Babylonian stele ?
(1)  The British Museum, London

(2) The Louvre Museum, Paris

(3)  The Hermitage Museum, St. Petersburg

(4)  The Metropolitan Museum of Art, New York
Options :

1.1

2.2



3.3
4.4

Question Number : 53 Question Id : 5330725986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freaferfia  § fore yeTer § o9 WEiAaW SRl fofél - el 2o i oE wed &

) e e W, < (e w4 9, )
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 5330725987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In d_igil‘al documentation, ’pixel’ is the :

(I) Smallest unit of photograph
(2) Smallest unit of sound

(3) Smallest unit of text

(4) Smallest unit of graph
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 5330725987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fefsest yermm o ‘fusga’ ©

(1) TRRUTF 1 God B 3HR

(2) waf = T DT T

(3) THZ I GIY B THE

(4) S0E (TTH) FH Fod DI THE

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330725988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With regard to the museum management, what does SEM stands for ?

(1) Search Engine Marketing

(2) Social Environment Management
(3) Social Engine Marketing

(4) Search Engine Management
Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 5330725988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GUETerd YU o Hey # §H (SEM) IR T
(1) &= 35 Hehfen
(2) HITH TEETHE HASH=

(3) HIYI g AR T
(4) T HASH=
Options :
1.1

2.2



3.3
4.4

Question Number : 56 Question Id : 5330725989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Museum of Man is located at :
(1) New Delli

2) Indore
(3) Noida
(4) Bhopal

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330725989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HE HUeeTd el © 7
(1) 2 foeedt

(2) TRR

(3) HeEr

(4) A9
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 5330725990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



MBQO does NOT include :

(I) Reward and recognition

(2) Performance appraisal

(3) Determining organisational goal

(4) Monitoring progress and performance
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 5330725990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

un Sff &7 H o wnfaer @i & ?

(1) Wfarfaes 1 §9M

(2) FEREA HeAieh

(3) HieTrs s i

(4) wmfd wE wE femea 1 fFE
Options:

1.1

2.2

3.3
4.4

Question Number : 58 Question Id : 5330725991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One of the examples of Personalia Museum in Delhi is :

(1) National Museum

(2) Crafts Museum

(3) Museum of Natural History

(4) Gandhi Smiriti Museum

Options :

1.1

2.2
3.3



4.4

Question Number : 58 Question Id : 5330725991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fooetl frora Safoawes uererd #l 3TRL0T Il © 2
(1) T Hoere

(2) Toe9 () R

(3) HTeRfdeR =faem queed

(4) e wgfa Yuee™

Options :

1.1

2.2

3.3
4.4

Question Number : 59 Question Id : 5330725992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following applications does NOT give any massive experience to the museum
visitors ?

(1)  Virtual reality

(2) Visual effect

(3) Augmented reality
(4)  Mixed reality
Options:

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 5330725992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WRrer i 1 et § G e s FE of Fr sree T e # ¢
(1) o gem

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 5330725993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ICOTOP is associated with :
(I) Training

(2) Documentation

(3) Storage

(4) Acquisition

Options:
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 5330725993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aMsF 2T (ICOTOP) fr=fafes # § frad deifga €2

(1) ST
(2) HerEd
(3) HSRW
(4) IR

Options :
1.1



2.2
3.3
4.4

Question Number : 61 Question Id : 5330725994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Museum Association of India established in :

(1) 1960
(2) 1944
(3) 1990
(4) 2001
Options :
1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 5330725994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YT FUETerd HH ki T e g5 o ?

(1) 1960
2) 1944
(3) 1990
(4) 2001
Options :
1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330725995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Natonal Museum of Indian Cinema is located at :

(1) New Delhi

(2) Mumbai
(3) Kolkata
(4) Pune
Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330725995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA g =1 T Hoerery el feud ©2
(1) = feoo

(2) T
(3)  ShIcTeR
(4)
Options:

1.1

2.2

3.3
4.4

Question Number : 63 Question Id : 5330725996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The new name of National Museum Institute, New Delhi is :
(1) Indian Museum Institute

(2) Indian Institute of Heritage

(3) Indian Art Institute

(4) Indian Institute of Archaeology
Options :

1.1

2.2

3.3



4.4

Question Number : 63 Question Id : 5330725996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e M, 78 faodl 1 qiafdd 99 = g ?
(1) R HURTeTd HEmH

(2) WRAE =T 9EH

(3) YR el HEH

(4) YRAE IO §EIH

Options :

1.1

2.2

3.3
4.4

Question Number : 64 Question Id : 5330725997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The optimum angle illumination for sculptures 152

(1) 90°
(2) 60°
(3) 45°
(4) 30°
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330725997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfamr (Hfdal) & TSI 1 3=aH v fwa=n 21 =rfey ?

1) 90°

2)  60°
(3) 45°
4) 30°



Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330725998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the f::s]lnwing 1s the first site museum in India ?

(1) Sarnath Museum

(2) Lothal Museum

(3) Kalibangan Museum
(4) Rakhigarhi Museum
Options:

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 5330725998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YA 1 9YH JUEIA HUElerd i1 © 7
(1) HAY HUed
(2) wIgA HUETAH
(3) RIS TR
(4) TS HoRTTE
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330725999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"Watson Museum' is located at :

(1) Rajkot

(2) New York
(3) London
(4) Geneva
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 5330725999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘greE GUeed’ el STaferd § 7
(1) TSR

(2 =aE

(3) ©ied

(4) SHET

Options:

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 5330726000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Collection of Shivalik fossils could be seen in :

(1) National Museum, New Delhi

) Indian Museum, Kolkata

(3) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai
) Birla Science Museum, Hyderbad

Options :
1.1
2.2
3.3



4.4

Question Number : 67 Question Id : 5330726000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forenferer StremyHt & Hue &1 frefafas 5 9 frg gueem o <@ <1 g €2
(1) T greem, % oot

(2) R wyeTer (3T wfeEm), i
(3) @i TS WS o HUered, g
(4) forgen fogm duer, seUers

Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 5330726001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Dr. Bhau Daji Lad” museum was established in :

(1) 1857
(2) 1885
(3) 1904
(4 1860
Options :
1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 5330726001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B, WIS TS oS HUEerd 1 Lo fohE o g2 o ?

(1) 1857
(2) 1885
(3) 1904

4) 1860

—



Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330726002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a method of acquisition ?
(1) Loan

2)  Gift
(3) Exchange
(4) Theft
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330726002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafag o 9 sttt = fafy =@ 9 767 €2

(1) =&

(2) SUER
(3) far=m
(4) =

Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 5330726003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Dandi Kutir’ is located at :
(1) Ahmedabad

(2) Gandhinagar

(3) Porbander

(4) New Delhi

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 5330726003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘TiEl TR fohm we H frem €2
(1) AEHIIER
(2) TR
(3) dRET
(4) % feoed
Options:
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330726004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UNESCO resolution on “The Convention for the Safeguarding of Intangible Cultural Heritage”
was passed in the year :

(1) 1999
(2) 2001
(3) 2003
(4) 1966

Options :
1.1
2.2



3.3
4.4

Question Number : 71 Question Id : 5330726004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTER] Goheq ' s wiehfae favred guaam sifvgwg " feg o i e o ?

(1) 1999
(2) 2001
(3) 2003
(4) 1966
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330726005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following museums has period room presentation ?
(1) Victoria Memorial Hall, Kolkata

(2) Durbar Hall of the Hazarduari Palace, Murshidabad

(3)

(4) Chhatrapati Sivaji Maharaj Vastu Sangrahalaya, Mumbai

Calico Museum, Ahmedabad

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330726005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefed & 9 ferg duerer ¥ iitae (smefer) 4 Tefaer s g g ?
(1) Tl AuifEa &, Fiew

(2) TR SN Wed 1 STER B, GRieEms

(3) HfcTen |, SEHeEE

(4) wdfa fmrsh wer g e, qe

Options :

1.1

2.2

3.3
4.4

Question Number : 73 Question Id : 5330726006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per [COM Code of Ethics, which of the following is NOT essential for the acquisition for the
collection ?

(1) Valid title

(2)  Written acquisition policy
(3

(

4)  Protected biological/geological specimens

) Individual/community culturally sensitive material

Options:
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330726006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST I S S o STTAR S % it o foru Fvafefias & 9 @ 0 omovas: 7 &7
(1) % v

(2) T st ifd

(3) Wil ®Y H Hagdia

(4) Rl forer/ oI A

Options :
1.1



2.2
3.3
4.4

Question Number : 74 Question Id : 5330726007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Arnold, the fullform of “VALS' is :
(1) Value and Lifestyle Segment
Value and Longevities Segment

)
& Value and Lengthy Segments
B &
)

(4) Vital and Lifestyles Segment
Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 5330726007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIeE & STER 9169 (VALS) % 0 &9 ¥ :

(1) oY UE dRF=RY =2
(2) <Y dE Aifads =
(3) oY UE T g

(4) dEEA U8 AR HTHR
Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330726008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Friends of Museum scheme is associated with :
(1) Calico Museum

(2)  Dr. Bhau Daji Lad Museum

(3) Birla Industrial and Technological Museum
(4) Bharat Kala Bhawan

Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330726008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea ® 4 fom duerema ¥ ' gueres-frs’ dem e 2
(1) Hfcrrl U™

Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 5330726009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The foundation stone of the Victoria Memorial Hall at Calcutta was laid by :
(1) King George V
(2) Queen Victoria

(3) Lord Curzon

(4) Lord Ripon

Options :
1.1
2.2
3.3



4.4

Question Number : 76 Question Id : 5330726009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et Aftae e, Foreral =1 oTerRforen foras Tt off ?
(1) fEn=sv

(2) & (Werr) ot
(3) TIE FelA

(4) e oA

Options :

1.1

2.2

3.3
4.4

Question Number : 77 Question Id : 5330726010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main purpose of the Antiquities and Art Treasure Act, 1972 was :

(I) To draw timelines for the identification of antiquities and art treasures

(2) To define art treasure and antiquities

(3)  To regulate the export trade in antiquities and art treasures and to stem its illicit flow out of
the country

(4)  To frame rules for the acquisition of antiquities

Options:
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330726010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WA 1 TR FFd AN, 1972 F T 30 4 97
(1) TR SR e FeTH A e o (o0 a-Hm R e
(2) EHE FICTHI T G 1 R e

(3) U SR TR FEH & A AR A Al F 9 O A T e e A
ET]

(4) T % S e frm o

Options :

1.1

2.2

3.3
4.4

Question Number : 78 Question Id : 5330726011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following chemical compounds is a fumigant good for treating almost all kinds of
museum objects ?

(I)  Thymol

(2) Carbon disulphide
(3) Formalin

(4) Hydro cyanide

Options:
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 5330726011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feign o 9 e T AT O 4 ¢, S GURIcr e G TR A o % e 6
fou 3 &7

(1) 9

(2) W TR ToHsE
(3) mfer

(4) TEGHPAEE
Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 5330726012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Indian Treasure trove Act, 1878, when the Collector declares the treasure ownetless, he
shall divide the treasure or its value between the owner of the place and the finder of the treasure
in the ratio of ;

(1) 50:50

(2) 60:40
@) 25:7
(4) 20:80

Options:
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330726012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W fam ity i, 1878 % SRR, T4 Fereer FiY B ! foe s e ¢, @ 9% M
3% T 1 T % T ol iy & sl o o Frefefan s § aem

(1) 50:50

) 6040

) 25:75
8 20:80



Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 5330726013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[n the ADDIE model of information dissemination applicable for exhibition designjng, ADDIE
stands for ?
(I) Attention, Determination, Dedication, Interpretation, Explanation

Analyse, Design, Develop, Implement, Evaluate

e | [ ]

(
(
(4

)

) Analyse, Determine, Develop, Interprete, Evaluate
) Attention, Determine, Design, Implement, Explain
Options :

1.1

2.2

3.3
4.4

Question Number : 80 Question Id : 5330726013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WESt SAfsrer # fe STy YE WO % € (ADDIE) Hfed § ADDIE 1 90 #9 ¢ :
(1) &M, ferfrmem, Sfechym, 3oy, ToweryH

(2) e, fee, S, S, e

(3) T, feetis, <aa, 322, e

() v, fezome, fem, g, T

Options :

1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 5330726014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per the Ancient Monuments and Archeological Sites and Remains (Amendment) Bill, 2017, a
new definition was inserted in the section 2 of the Ancient Monument and Archaeological Sites

and Remains Act 1958 that deals with.
(1)  Public Works

(2) Competent Authority

(3)  Director General
(

4)  Commissioner

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 5330726014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A T 70 R T A S (WA fot, 2017 F AR, e S 6 [
T ST ey aAffem, 1958 1 oW 2 W U T TR SR B, S fFefefan @ wafim e

Options:
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330726015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S0 for as museum collections are concerned, which of the following officials can initiate the
deaccessioning process ?

(I) Keeper

2)  Documentation Officer

3)  Owner

4) Curator

(
(
(



Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330726015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRrer YT & oo § fFefotea § @ s s faufomen g ary @ ge & ?
(1) %

() W HYHR

(3) @

(4) WAy

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 5330726016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What gives unpaid publicity to a museum ?
(1) Advertisement

(2) Media relations

(3) News release

(4) Participation in fairs

Options :

1.1

2.2

3.3
4.4

Question Number : 83 Question Id : 5330726016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt duerera &1 fam e & w=r freifera § 3 fegd S e ?
(1) T

(2) Hifea ¥ Hey (Hifgan o)

(3)  HEA S FH H (S )

(4) T H yried

Options :

1.1

2.2

3.3
4.4

Question Number : 84 Question Id : 5330726017 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Site Museums were established in India for the first time during the tenure of.
(I) Lord Ripon

(2) Lord Curzon
(3) Lord Lytton
(4) Lord Linlithgo
Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 5330726017 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

WA H He9YW w6l §ued efafed § 9 e wewe | wefd fem wr o
(1) e fe

(2) ©E FSH

(3) @S ferezA

(4) e femfeem

Options :
1.1
2.2



3.3
4.4

Question Number : 85 Question Id : 5330726018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The presence of which of the following in the atmosphere causes ‘bronze disease’ ?
(1) Sulphur

(2) Nitrogen
(3) Hydrogen
0

Chloride

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 5330726018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e | it ® § forgent Suftera ¥ ‘i ' (i) S g ?
(1) T

(2) EeSH

(3) eEERH

(4) FARES

Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 5330726019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Exhibit ergonomics does NOT consider :

(1) Viewing Explicit from all corners

(2) Understanding the theme of exhibit

(3) Considering the average height of visitors
(4) Readability of texts

Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 5330726019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey myenfed (sEiTeEg) | frfafaa § @ feg W fomm & f sm e ?
(1) =l FH 9 fea o 758 ®

(2)  weul = 4m (forr) &t 5ee W
(3) AT 1 STHT FaTE F AR W
(4) I3 T FeHAEN W

Options:

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 5330726020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What 1s “Gee whiz!” factor in an exhibition ?

(1) Human reacts strongly

(2) Human react neutrally

(3) Human escaped from exhibitions
(4) Human tendency to sleep
Options :

1.1

2.2

3.3



4.4

Question Number : 87 Question Id : 5330726020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft wreef=it & ‘7t fegst !’ Rk R € 2
(1) T4 F SRER gfafsran &
(2) HIH N I FfAlEA S
(3) HIA T YSUH | <A S
(4) WIS I EH F vEfd
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 5330726021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an Accession Number in museum collection, “NH-2024 | 094 |02, 094 in the box refers to ;
(1)
(2)  Number of the museum
3)
(4)

Date of making of object
3)  Object number accessioned in the same year

4

Code of the museum

Options:
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330726021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e W B afafta i NH-2024 | 094 027 H @ | aifera 004 ol wafia €
(1) g fomior it fafe
() YRR l HE
(3)
(4)

3) o T 39 o W 3T g o
4) TR F T #iE
Options :
1.1
2.2

3.3
4.4

Question Number : 89 Question Id : 5330726022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not part of a budget ?

(I) Planned expenditure

(2) Revenues

(3) Resource quantities
)

(4) Non-permanent income
Options:

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 5330726022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea § § Fm a2 & 9 76 € 2
(1) s =4
(2) TorE
(3) HHETEA HEA
(4) STEArl =T
Options :

1.1
2.2



3.3
4.4

Question Number : 90 Question Id : 5330726023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does the term ‘Duo Exhibition’ mean ?

(1)  Exhibition that has been planned on two distinct themes

(2)  Exhibition that involves the collaboration and artistic dialogue between two artists
(3)  Exhibition that focuses on the dual role of any personality towards society

(4)  Exhibition that is available in dual plateforms, both physical and virtual

Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 5330726023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g TEEl (SN TEHfeN) Wes T SN 1 T 7

(1) = TeEH & 3 fo fawar (M) TR 9 95 i T 2

(2) o YU fgH 3 FER & o Gedn SR Fercs amaierd e |
(3) 9% YeuHl S gue % fa fort safea 1 edt yfre W Efea a6 B
(4) T I S S wiewn siifae of smurd w9 H 3uere ¢ |
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 5330726024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange in sequence the museum management to achieve the mission mandate, goals and
objectives :

(A) To inspire with a sense of Museum Mission.

(B) To evaluate the fullfillment of museum function in outcome
(€) To communicate the museum'’s mandate.

(D) Tolead toward the museum's goal

(E) To control the attainment of objectives

Choose the correct answer from the options given below :

) () @) 0Ok

(@ (4), (8) D) (E) &(C)

() (4). () ) D) & (E

@ () (C) (D) (E) & (B)

Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 5330726024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & sy, 3TH SR 35w 1 Wi o o STavae YeisA &1 SN aas0 ;
(A) IR o T o w6 o "9 Ui FE

(B) fOTH ¥ HYRIeH <kl kGl i Qfd < iR F

(C) HURRH % AHEY FI FHIfad FT

(D) IR % T I A T

E) 3ZevE F Ao F b w0

A feu U fosedi o 9 W@ 3T F 75 B ;
(1) (A), (B), (D), (O ¥R ()
(2) (A), (B), (D), (E) ¥ (C)
() (A), (B), (C), (D) ¥R (E)
(4) (A) () (D) () 3R (B
Options :
1.1

2.2



3.3
4.4

Question Number : 92 Question Id : 5330726025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange sequentially the process of improving the resistance of museum against theft.

(A) Risk assessment; analysis of the probability and consequences of the threats

(B) Risk identification; analysis of the security situation of the museum

(C) Risk reduction; minimization of all probable risk

(D) Risk control; develop protection plan and implementation of this plan

(E) Risk evaluation; determination of risk level and its acceptability

Choose the correct answer from the options given below :

(1) (A) B), D), (©) E)

@ ®), (A) ) ©) D)
@) (). &), (C) (a), D)
@ (A) Q) [©), B), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 5330726025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T % fd IR o oY H R 1 9hRA I SRS ¥ 9 Aty Hfa ;
(A) SfEm 1 ke ; Wifgehal o @atl o g o1 fageryo

(B) SifiEm %1 Yg=M : Wyerer i g feerfq 7 faveram

(C) HfEw &0 FT : Gt Wik SfEw 1 e

(D) ifiEm W e« Hee e fofad s 3 39 A 1 T
(E) Sifem Hqeais : Sifan wR sl g0t Wi & e

I fou o fosredl § ¥ W@ ST T Fif0 ;
(1) (A), (B), (D), (©) (B)

(2) (B), (A), (), (©), D)

(3) (). (E), (C) (A), (D)

(4)  (A). (C), ), B). (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 5330726026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in chronological order of legislations and conventions related to heritage.

(A) Indian Treasure Trove Act

(B) Venice Charter

(C) UNESCO Convention for the Safeguarding of Intangible Heritage

(D) The Antiquities and Art Treasure Act

(E) Person with Disabilities (Equal Opportunities, Protection of Rights and Full Participation)

Choose the correct answer from the Uptions giv en below :

(1) (@) B) Q) D &E

(@ (A)®) D) E)&(Q
() (&), () (E) (D) &(C)
@) (A) () D) (B) & (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 93 Question Id : 5330726026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e § et frefafed faum @ik sifiema &1 Feew § s S ;
(A) 9T fam-fafy sfufam

(B) dfE =M

(C) =R 1 A I 1 T Hat s

(

(

D) YUa¥Y 3R sgHed Shapid sifHfan
E) fooam =afad (oM, o, Sifuerr TRemn ofit ot smfierdt) arfefem
A fou U fosred o § 9 3T H TH H(fOU ;

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330726027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the stages of product life cycle in chronological order.
(A) Growth

(B) Maturity

(C) Development

(D) Introduction

(E) Decline

Choose the correct answer from the options given below :
(1) (D) (A), (©), (B) (E)

(2) (©), (D), (A), (B), (E)

(3)  (A), (O, (B), (D), (E)

(4¢) (Q), (D), (B), (A), (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330726027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3G Sae = F feAfafaa seensl 1 FenEn | Srafd Fif ;
(A) s

(B) OigeErT

(C) fowm

(D) TET

(E) @9 (9e)

A feu o ferspedl % 9 W& ST A T KT

(1) (D) (A), ©), (B), (E)

2) (©), (D), (A), (B), (E)
3)  (A) (©), (B), (D), (E)
@) (©), (D), (B), (A), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 5330726028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



On the basis of the years of the establishment, arrange the following chronologically :
(A) Indian Museum, Kolkota

(B) Victoria Museum, Karachi

(C) Khajuraho Museum, Madhya Pradesh

(D) State Museum, Lucknow

(E) Rajkot Museum, Gujarat

Choose the correct answer from the Dpl‘iuns given below :

() (©) E), (8), (A) D)
@ (©), (E), (D), (A) (B)
@) (A),(B), D) E), (€
@ () (E) (A), D) (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 5330726028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freAferfiad HereTa ol 3T T 99 o STTHR SAJohA H el efd i :
A) NI HUETe™, Hieedl

(1) (), (B), (B), (A), (D)
(2) (©), (E), (D), (A), (B)
@B)  (A) (B), (D), (B) (O
4) (©), (E) (A), D) (B)

Options :

1.1

2.2

3.3



4.4

Question Number : 96 Question Id : 5330726029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following human resource management practices in a museum in the correct sequence
chronologically.

(A) Recruitment

(B) Job description

(C) Reward and recognition

(D) Induction and training

(E) Capacity building

Choose the correct answer from the oplinns given below :

0 (A), ), E ©, D)
@ (4), (D) ®) ) ©
3 (), (A) E D) ©
() () (A) D) & ©
Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 5330726029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et Ferera © Fefeifad el SR Wl o SToRell 1 el FHeshd § i i ;

(A)

(B) H faam

(C) it &R H3m

(D) SR SR e

(E) & i

A feu U foered % ¥ W@ S A T HIC ;
(1) (A) (B), E), ), D)

(2 (A) D) ®) E) C

(3) () (A) [© D) (©

(4) () (4), D) ) ©



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330726030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the acquisition of collechon as per [COM mandate.

(A) Collection policy

(B) Provenance and due diligence

(C) Object not from unauthorised parties/agencies

(D) Secure, respect and care the collections

(E) Valid title

Choose the correct answer from the options given below :

(1) (A), (D), (B), (C), (E)
(2) (A) (B), (©), (D) (E)
(3) (A), (E), B), (O), (D)
@) (A), (B), (©) (E), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 5330726030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S T2 F FER, HUE F TR 1 Tel oy § =afte Fifem
(A) U ifd

(B) 3 3N 4 HAGHME

(C) aTeRd qey/Tsiel =1 9% A BH 1 e

(D) EE I H&, HH SR @

(

E) 99 s
= fou o fasred § 9 W@ ST F T9H Hi
(1) (A), (D), (B), (C), (E)
2) (A), (B), ©), (D), (E)
(3) (A). (B), (B), (), (D)
4 (A), (B), (O), (E), (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 98 Question Id : 5330726031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in chronological order, the steps to be followed in case of front end analysis of an exhibition
design.

(A) Assess the requirements and extent of public benefit

(B) Discuss with target visitors

(C) Take feedbacks from target visitors

(D) A scheme is made based on some ideas and suggestions
(E)  Opinious are solicited from experts

Choose the correct answer from the options given below :

(1) (© [O) (8), &) A)

(@ [©) &) 6)(©) @A)

) (4) (), O) (&), ©

(@) () (4) €, D) ©

Options :

1.1

2.2

3.3



4.4

Question Number : 98 Question Id : 5330726031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forelt e afirered 3 e e o et wier R T et el o ) e T
] e I

A)  HoISIR T 1 SR S G SRR B

B) ifeqd AT o H =l A

D) aHfva fararii iR T R N U A A 0 ¢
E) Torl 9 v < %1 e foren o €
7 feu o foraredl H O W@ S F T F

(1) (©, (D) B) () (A)
(D), (), (8). (©), (4)
(A), (B), (D), (E), (©)
(B), (4, ), ), (©

)
2
)
4
Options :
1.1
2.2
3.3

4.4

Question Number : 99 Question Id : 5330726032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is/are true regarding ‘Radiography’ with special reference to its application
towards cultural material ?

[t 1s non-destructive and non-invasive

[t is a direct and uisua]ly appea]jng way of comurﬁcaljng information

(4)

)

(C) It helps in conservation decision-making

(D) It can not be applied for textile conservation
(£

) It provide corroborative evidence about suspected features
Choose the correct answer from the options given below :
(1) (A) & (B) Only
() (A), (B) & (C) Only
() (A), (B), (C) & (D) Only
(4) (A, (B), (C) & (E) Only
Options :

1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330726032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e G % fo  oR A w59 o & Hed § oA’ & ar ¥ Fefafen § 4
Y O T

(A) T8 SIS S ST €

(B) 7 e S 3V &9 Yo & W A T A T

(C) 7 & o Helel H FA0 e A €

(D) 38 S o G % foq ekt el feren < e

(E) 7 e foroenel 3 a1 § WeAeneh e eH e €

el feu U forredl W § W@ S @ T A

(1) o (A) 4 (B
() (A), (B) 3R (O)
(3) % (A) (B), (C) R (D)
(&) a9 (4), () (C) &M (B
Options :

1.1



2.2
3.3
4.4

Question Number : 100 Question Id : 5330726033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange sequentially the process of branding in chronological order.
(A) Designing identity

(B) Creating touchpoints

(C) Managing assets

(D) Clarifying strategy

(E) Conducting research

Choose the correct answer from the options given below :

(1) (A) (B), (B), (©), (D)

(2) (D) (B), (A), (C), (B)
3)  (©), (A), (E), (D), (B)
@) (B), (D), (A) (B), (©)
Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 5330726033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FFET =01 GTehaT 1 Hel FIeATshH H SHafedd Hifa :
(A) e AfSEReTd

(B) Wl fag ffHa =

(C) ofHaferl s WeieH T

(D) TOMITG T SHTAT

(E) SATHHN T

4= feu o fasedi O 9 W 3 1 99 Fife
(1) (A) (B), B), ©), (D)

(2) (D), (E), (A), (©), (B)

(3)  (©), (A), (B), (D), (B)

4) (B), (D), (A), (B), (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 5330726034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence of facilities provided for persons with disabilities/'Divyangjan’.
(A) Appropriate signage/landmark for blind persons

(B) Ramps and path

(C) Access route

(D) Wheel chair

(E)  Clearly marked glazed door

Choose the correct answer from the Dpl‘iuns givan below :

() (A)(©) (E) (B) & (D)

(2)  (A)(C) (D), (B) & (E)
() (A) (O (B) (D) & (E)
(4) (A), (B) D) (C) & (E)
Options

1.1

2.2



4.4

Question Number : 101 Question Id : 5330726034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9. graraa fe=am =afaa =1 e gfaensii o1 A H Haftyd Sifs ;
(A) gfesfd =afdar & fo s Finfiw/ o
(B) T SR U1 (BT S 9Y)

(C) fwrs 71l 99

(D) =l =

(E) = Tewmifera shif=d gR

9= fou U fased § ¥ W 3T 9949 B
() (A), (©), (E), (B) ¥R (D)

(2) (A), (C), (D), (B) iR (E)

(3) (A), (O (B) (D) ¥R (E)

(4)  (A), (B), (D), (C) R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 5330726035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange sequentially the process of project management in chronological order.
(A) Allocation of project resource, assigning roles and responsibilities

(B) Get result, hand over deliveries, reviews

(C) Defining project goal, prepare the list of stakeholders

(D) Monitoring and control of progress

(E) Define scope, create project plan, set a budget

Choose the correct answer from the Dptiuns given below :

(1) €, (©), (A) D) (B)

(2) (©), (E) (A) D) (B)
@) (&) D), ) (©) (B)
@ () (A4) ©) D) B)



Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330726035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS Fet Y WA I AT T SAafiem Hifery ;
(A) UFCESH HR1EA F e, e iR Sweifae fHuRo
(B) OO A1 T, SR B&AIaG Tl SN Heta T
(C) U @e THequr w31, SRR o g T
(D)
(

D) wifa i R e oiR e a9m wam
E) @4 & 1 frvion, ofeem it 3o o w0 aon asie i s
e feu MU fashedi ® ¥ 9 3 H 99 Fi
(1) (), (), (A), (D), (B)

2 (O, (E) (A), (D), (B)

(3) (A), (D), (E), (©), (B)

4) (E), (A), (©), (D), (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330726036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange in sequence the museum'’s functions :
(A) Public Relation

(B) Acquisitions of Collection

(C) Preservation and Conservation

(D) Documentation

(E) Education and Research

Choose the correct answer from the Dpl‘inns given below :

(1) (B), (B), (A), (C) & (D)
(2)  (B), (©), (D), (E) & (A)
(3) (B), (D), (E), (A) & (O)
(4) (B), (A), (C), (D) & (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 5330726036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GURTd o Al SR H Had Hifay
(A) SEEIF

(B) IfeRrEm R TUE

(C) TfREatr 3R Ham

(D) HerEH

(E) Tomem &I s1qE

= fou TTa foepedl H 9 W& S =T HA
(1) (B), (), (A), (O) (D)

2 (), (©), {D {E)aﬂw
(3)  (B), (D), (E), (A) 3R (C)
4)  (B), (A), {C) {D) I (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 104 Question Id : 5330726037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the light sensitive material from lower to higher.

(A) Natural history product

(B) Dyed leather and textile

(C) Easel painting

(D) Water colour painting

(E) Mossaic work

Choose the correct answer from the options given below :

(L) (A), (B), (©), (D), (E)

(2)  (A) (O, (B), (E) & (D)
(3)  (A), (B), (D), (C) & (E)
(4) (B), (©), (D), (B) & (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 5330726037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfcfEa w1 Saer gmiEl s 1 § 3= Gafea & oA | afeed HIfa ;
(A) TR 3fer See (TeE)
B) fer =W X a5



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330726038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in chronological order of an effective communication.
(A) Clarify the purpose

(B) Convey the meaningful message

(C) Consider the state of mind of receiver

(D) Message creation

(E) Selection of channel

Choose the correct answer from the options given below :

(1) (B), (A), (E), (D), ()

(2)  (©), (D), (A), (E), (B)
(3) (D), (A), (B), (O), (E)
4) (A), (©), (D). (E), (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 5330726038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Terelt goqrell HUUOT o1 HeEl HIeATshA Taaifehd it ;
(A) TEETT R FHAT

(B) HefeRr Hewl HUTUd Al

(C) Hew grerehdl ki w:feefa o2 fo=m s
(D) TS F A FHET

(E) =Fe 1 =99 Tl

4= feu o fasedi O 9 W 3 1 99 Fife
(L) (B), (A), (E), (D), (O)

2 (©), (D), (A), (E), (B)

(3) (D) (A), (B), (C), (E)

4) (A) (O, (D), (E), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330726039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iclent‘Lfy, the steps to be taken to clean buried bronze antiquities having heavy deposit of calcarious
material.

A) Soaking

B) 5% sodium hexa meta phosphate

EDTA
E) Formic Acid
Choose the correct answer from the options given below :
(1) (D) & (E) Only
) (A) (B)& (C) Only
3) (A) & (E) Only
(

s B) & (E) Only

) Aqueous solution
)

(
G)
4
Options :
1.1
2.2
3.3



4.4

Question Number : 106 Question Id : 5330726039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 9 ) e Yegelt e e A o Fre g €, % Fretfofen o 4 o o e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330726040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Polyvinyl accetate is used as :
(A) Varnish

(B) Consolidant

(C) Insecticide

(D) Pigments

(E) Dyes
Choose the correct answer from the csptinns given below :
(1) (A) Only

(2) (B) & (C) Only
(3) (B) Only

(4) (D) & (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 5330726040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yictiforree THiee #i =1 9 | uga fofan s 2
(A) TH

(B) HHZH

(C) =i

(D) i

(E) &

99 feu e fasredi o 9 W ST % 9949 Fife
(1) (A

(2) I (B) 8K (C)
(3) < (B)

(4) FIA (D) I (E)
Options :

1.1

2.2
3.3




4.4

Question Number : 108 Question Id : 5330726041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the ethical norms to be followed in the conservation of objects in a laboratory.

(A) Conservation process must always be reversible

(B) For analysis preferably non-destructive methods should be used

(C) Past method of treatment should be followed

(D) Neutral packaging materials are should be used while packing

(E)  Unless warranted chemicals should not be used

Choose the correct answer from the Dptiuns gi\.ren below :

(1) (A), (B), (C) and (D) Only

() (A),(C), (D) and (E) Only
() (A), (B) (D) and () Only
(4) (B), (C), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 5330726041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fert warraTen  Sgai o e % fou SeR ferd I Al A WHEE] @ 5 e
(A) & YioaT Hed A Bl AET

(B) forveram & fere sifema: R-orgeArrm fofer & yam 4 =fen

(C) VIeR %1 g0 fafy o1 Ser feran 511 =fen

(D) Hfebm # T Ser A A o v e e e

(E) 6 T SAEvaF 7 5 THAI ol T Tl O e

el fou T fospedl § 4 W@t ST H T HC

(A), (B), (C
(A) ©), (D)
(A),

(8)

Qo

(8), (D)
B), (O) (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330726042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are the methods for dating of objects ?
(A) Carbon dating method

(B) Photochemical testing method

(C) Amino acid method

(D) Thermoluminiscence

(E) Stratigraphy method

Choose the correct answer from the options given below :
(I) (A), (B), (C) and (D) Only

(2 (B) (C), (D) and (E) Only

(3) (A), (C), (D) and (E) Only

4) (A), (B), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330726042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FEgil & Fertuio & fafuEr frafates § 4 e €2
(A) wreA 2fé (Fre Fyio) fafy

(B) RIS TETAfa gdar fafy

(C) o fae fafy

(D) dry HeifE fafy

(E) =il fafy

4= feu o fasedi O 9 W 3 1 99 Fife
(1) &= (A), (B), (C) ¥R (D)

(2) % (B), (O), (D) 3T (E)

(3) F= (A), (O), (D) 3N (E)

(4) S (A), (B), (D) #1R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 110 Question Id : 5330726043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select tools of ‘promotion” in marketing mix ?

(A) Advertisement

(B) Pricing

(C) Media relations

(D) Public relations

(E) Physical evidences

Choose the correct answer from the options given below :

(1) (A), (C) and (E) Only

(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
(4) (B), (D) and (E) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 110 Question Id : 5330726043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T afersg § geda’ (AHIE) ST A E ?
(A) Tagrem

B) W fref

(C) wifean gay

(D) SEEIF

(E) 9iifaer @med

4= feu o fasedi O 9 W 3 1 99 Fife
(1) %9 (A), (C) ¥R (B)

(2) %= (B), (C) 3 (D)

(3) % (A), (C) ¥R (D)

(4) A (B), (D) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 111 Question Id : 5330726044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Curative conservation is planned :

(A) When deterioration of objects caused due to previous chemical treatment

(B) To protect the damaged object from further decay

(C) To reconstruct the missing parts

(D) To eliminate the factor which caused deterioration

(E) To replace the damaged part by suitable materials

Choose the correct answer from the Dptiuns giv en below :

(1) (A), (B) (C) and (E) Only

(2 (A), (C), (D) and (E) Only
(3) (B), (C) and (D) Only
(4 (A)and (B) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330726044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSI FTE0T 1 A Fa o] S © 2

(A) @ gd ¥ fFd T Tt e % R oy foefid 8 S §
(B) eifqured o =1 AR =ik &fa 2R ¥ o= & fou

(C) o< Y9I =l YA FH & fog

(D) foequERl el 1 T FH & fau

(B) 39gad Gt g afeursd T o yfqenfud s & fo

o fou T fosred H ¥ Wet I F T4 Rl

() 9 (A), (B), (C) 3R (E)

(2) Ed (A), (C), (D) 3R (E)
(3) = (B), (C) 3R (D)
(4) A (A) IR (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 5330726045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What causes mildewing of leather ?

(A) Fungal growth on the surface of leather
(B) Increase in humidity

(C) Increase in temperature

(D) Decrease in humidity and temperature
(E) Increase of sulphur dioxide in air

Choose the correct answer from the Dpl‘inns given below :
(1) (A), (B), (O) and (D) Only

(2)  (B), (©), (D) and (E) Only
(3) (A), (C) and (E) Only
(4) (A) and (B) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 5330726045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS % BEHS UL eF & 9 FR E 7

(A) =HS H Fae W FHahd 3G

(B) oT=al H gfg

(C) drgskH (ar9wH) H 9fg

(D) 3fEan AR aEE | fiiree

(E) /g H HoHl SR 1SS i 95

= feu T fomredi H 9 W@ 3T A =TI FIHC
(1) %= (A), (B), (C) 3R (D)

(2) Fa (B), (C), (D) 3R (E)
(3) FAA (A), (C) #HR (E)
(4) I (A) SR (B)
Options :

1.1

2.2

3.3



4.4

Question Number : 113 Question Id : 5330726046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Foamed plastic is a good packing material for museum objects because it is :
A) Good shock absorber

B) Develop electrostatic change
) Excellent insulator

D) Cost effective

E) Light weight

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) Only

() (&) (C), (D) and () Only

(3) (8). (), (D) and (E) Only

4) (A), (€) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 5330726046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WG Wi Gaeed aegal & fore sem Sf |t o= € 2
(A) o8 39 GEI Yi9ek 2l §

(B) e Trer <=pa uftad =i fasfaa #tar ¢
(C) Fe Iepee el (fearega Uedt) @i ©

(D) I8 AN Qe Bt ©

(E) 4 &oh aerd aITell ordl ©

i feu o fased o 9 9 ST F 999 FifaT
(1) &= (A), (B), (C) ¥R (D)

(2) 9 (A), (C), (D) R (E)

(3) < (B), (O), (D) 3R (E)

(4) A (A), (C) 3R (E)




Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330726047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Although arsenic is an excellent insecticide, it is not suitable for treating museum objects because :
(A) Itcanonly be used in aqueous solution, which is generally to be avoided
(B) It is hazardous to the person, treating the object
(C) If applied arsenic remained on the treated objects
(D) It makes objects porous
(E) It reacts with organic objects
Choose the correct answer from the options given below :
(I) (A), (B), (D) and (E) Only
2) (B), (C), (D) and (E) Only
3) (A), (B) and (C) Only
(

4)  (B) and (D) Only

(
(
(
Options :
1.1
2.2
3.3

4.4

Question Number : 114 Question Id : 5330726047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ety ST O S e ¢, T e argell o e 3 e S e € &,
(A) 9 e ferer # Fq 2 Fe c, T ST o e

(B) % 39 AR o forw wteiwew 2 & S g 1 IO R

(C) e e e fore T & Wi el R iR & e o 90 §

(D

(

) S 1 TR S
E) ¢ il a5l § S & ¢
9 feu o fosredl & 9 W@ S A T Ff

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330726048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify benefits of social media marketing in present social context that museum should consider.
(A) Reaching people beyond the boundary

(B) Promoting museum exhibits and services

(C) Cost effective

(D) Maintains transparency with viewers

(E)  Quick access to visitors ‘feedback’.

Choose the correct answer from the options given below :
(I) (A)and (E) Only

(2) (A), (C) and (D) Only

() (), () (C)and (B) Orly

4 (A) (0) (D) and (B) Orly

Options :
1.1
2.2
3.3



4.4

Question Number : 115 Question Id : 5330726048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oA o, e ® e e w37 el ) feeifera it o w Herer ) foam #
e

(A) T RS (F) T R

(B) WW@WWWWWW
(C) T el

(D) el % Y TGO AR T

([E) e g 7 sffe i e g
4 few o foraredt H B W@ IR A TH F0
(1) 3 (A) R (E)

(2) ¥ (A), (O) (D)

() H (A), (B) (C) 4 (B

(4) = (A), (C), (D) R (B
Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 5330726049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Due to photochemical effect what would be the damage at first.
(A) Painting (Pigments Ink)

(B) Background

(C) Frame

(D) Wall

(E) Adhesives

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (C) Only

(3) (A) and (E) Only

(4) (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 5330726049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR RRAAAF G F FRO qagery = § § e sifaurs 2 2
(A) HfT (eie SR e

(B) =YW (FFURET)

(C) %H

(D) <ER

(E) 3IHSTHR

1= feu T fopedi W § Wl I H T Hifo

(1) 9 (A) 3R (B)

(2) Fd (B) 3R (O)
(3) A (A) IR (E)
(4) Fad (D) N (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 117 Question Id : 5330726050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Enlist the requirement of equipments for movement of collection.
(A) Frame

(B) Ladder

(C) Water sprayer

(D) Scissor lift

(E) Para-di-chlorobenze

Choose the correct answer from the options given below :
(I) (A)and (E) Only

(2) (B) and (C) Only

(3) (A), (B) and (E) Only

(4) (A), (B) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 5330726050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GUE F YRITHA 2q Savdsh Ul &l Geiag hifad ;
(A) WH

(B)

(C) v fesHa I3

(D) =i (HsR fas)

(B) U =T FAre=si

1= feu T fopedi W § Wl I H T Hifo
(1) 9 (A) 3R (E)

(2) A (B) 3R (C)

(3) A (A), (B) 3 (E)

(4) < (A), (B) 3R (D)




Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330726051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Appropriate museum security includes.

(A) Protect collection against theft

(B) Protect displays exhibition

(C) Safeguard storage areas during transit
(D) Design the exhibit

(E) Design the security layer

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A) and (D) Only

(3) (A), (B), (C) and (E) Only

(4) (A), (B), (D) and (C) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 5330726051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST GUETed AT | I €

(A) HUEH I H YA

(B) WY IR WSS I W&

(C) 9rTHA % SR YERUT &7 = T
(D) V=Y | 1 ST (FHET)
(E) &1 T 1 AHFAGAT AT

4= feu o fasedi O 9 W 3 1 99 Fife
(1) 9 (A) 3R (B)

(2) 9 (A) 3R (D)

(3) A (A), (B), (C) 3R (E)

(4) %A (A), (B), (D) 3 (O)

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330726052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A newly established museum has planned to prepare a ‘Guide Book’. Which of the following

items they must include in it ?

(A) Gallery plan

(B)  Brief gallery descriptions
(C) Activities of the museum
(D) Visitor amenities

(E) Offers and discounts

Choose the correct answer from the options given below :
(1) (A) (B) (C)and (D) Only

) (8) (0 (D) and (B) Only

(3) (A), (B) and (D) Only

4 (8), (0 and (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 119 Question Id : 5330726052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-4 Tfi e A - R A @ A e | Fefefen § 4 e ek g
e e e 7

(A) < A

(B) e e e
(C) e # Tt
(D) i @ e
() e 3R e (S o fewmse)

9 fou U forsed W 4 WE SR A T H
1) %d (A), @) a?‘R(D)

B), (C), (D) 3 (E)

A), () & D)

B), (C) &% (D

e
3) F (A
I

(
2
(
(4

) (
) (
) (
) (
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330726053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify different tools of digital marketing that a museum can use to reach its people.
(A) Branding
(B) Social media
(C) Content marketing

(D) Email marketing

(E) Print media

Choose the correct answer from the options given below :
1) (A), (B), (C) and (D) Only

®). (C), (D) and (E) Only

(A), (C) and (E) Only

(

(0
()
&)
(4) (A) (B) and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 5330726053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefire men % 1 v merll = fafen i formen wam 3 wierd @ oo o o foft o
7

7 feu o ol H © W@ SR F T
(1) @ (A), (), (C) 4T (D)
(2) A (), (C) (D) (B
() %A (4), (C) 3 (E)
(&) (4), (B) 4T (O

Options :
1.1
2.2



3.3
4.4

Question Number : 121 Question Id : 5330726054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are ethical values that a museum professional should maintain while planning marketing ?
(A) Honesty

(B) Responsibility

(C) Fairness

(D) Transparency

(E)  Availability

Choose the correct answer from the options given below :
() (A),(B) (C) and (D) Ony

(2) (A),(C), (D) and (E) Only

(3) (B), (C), (D) and (E) Only

4) (C), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330726054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Pt e e ) T ) 2 R o P 2 e S g o
e ?

(A) ST

(B) I

(C) Fromemn

(D) Y

(E) ITcTe

9 fou o fomred % B W@ S TH Fh
(1) @ (A), (B), (C) & (D)

(2) @ (A) C), (D) & (B)

(3) e (B), (C), (D) 4 (B
(4 % (C), (D) 9 (B

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330726055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identity the reasons for advocating the use of diffused natural light in museums in India.
(A) Enhance visibility of galleries

(B) Cost effective

(C
(D
E
Choose the correct answer from the options given below :
(1) (A),(C) and (E) Only

(@) (B), (C) and (D) Only

() (C), (D) and (E) Only

(4) (B), (D) and (E) Only

) Accentuate the original colour and texture of objects
) Available round the year

) Create a dramatic environment

Options :
1.1
2.2



3.3
4.4

Question Number : 122 Question Id : 5330726055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R H WUererdi § faafa TaiE T & WA F UsERan & FH % fafgd wife
(A) el %) g | 9f Fa e

(B) ATA WeITel &1l &

(C) &% % arwfas aui (T) 3R FeAfd 1 T &

(D) o9 R 39e@ T &

() e aame fAfife #e &

9 fou U fasedl ® 9 Wl ST H T Hio
(1) 9 (), (C) ¥ (B)

(2) e (B), (C) &R (D)

(3) @ (C), (D) ¥ (E)

(4) 9 (B), (D) 3 (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 5330726056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is "gobo’ in lighting to highlight objects in museum galleries ?
(A) It is a beam of light that projects an object

(B) It is an object placed inside or in front of a light source

(C) It control the shape of the emitted light and its shadow

(D) It acts an shield to block out some light

(E) It steers light in certain direction to cast dramatic shadows
Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D) Only

() (B, (O, (D) and (E) Only

(3) (A), (O), (D) and (E) Only

4) (B), (C) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 5330726056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Terer 0 <petall 8 agell i aifed F % oI e o o ol e e 1 e’ 3 8
(A) R YRR O foR0 €, A ferelt g R A 1 o &

(B) T St Tt T U G A VeHN] T % W A ¢

(C) 7 ISl Y1 21 ekl TRaTs o R 1 i o &

(D) % THIT oW F ek SMTSe ¥ for U e o w9 7 o

(E) 7 Tead T S o fere #fawg fown o verm 1 oftanford & &

el feu U fosedl 5 4 W@ 3 A T i

1 (A), (B), (C) ¥ (D)
(B),(C), 0) 4 (E)
(A)J()()aﬂu)
(

(1) e
(2)
(3)
(4) e (B), (C) 3 (D)
Options :

1.1

2.2

3.3



4.4

Question Number : 124 Question Id : 5330726057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Effects of light on artifacts depends on.

(A) Intensity of light

(B) Spectral characteristic of light

(C) Power cut during exhibition

(D) Microbiological growth

(E) Duration of exposure to light

Choose the correct answer from the options given below :

(1)  (A) and (B) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

(4) (A), (B) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 5330726057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FATHTE T THT F g7 fofd T PR 8 2
(A) TR I e

(B) eIV ! TazH! foroard

(C) WeIHt & SRM forstelt @ S

(D) Gewsifareta Hafg (AEHEraaiaese M)
(E) WeRTY1 <k 9fd SZTEHA R 37

1= feu T fopedi W § Wl I H T Hifo
(1) 9 (A) 3R (B)

(2) Fd (B) 3R (O)
(3) e (A) 3R (D)
(4) 9l (A), (B) 3R (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330726058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the components of Search Engine Optimization (SEO).
(A) Search Engine Marketing

(B) Web designing

(C) Link building

(D) Indexing keyword

(E) Website optimization

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

() (B), (O, (D) and (E) Only

(3) (A), (B), (D) and (E) Only

(4) (A), (), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330726058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g g9 SMEHESIH (SEO) & w2ahi i fagifea Fifsr
(A) FH 391 faqum

(B) =& fesmafdn (e@ eifyereq =)

(C) foier fAmTor

D) GHIF FT Y@ TS

(E) <EdEE AfEHESH

4= feu o fasedi O 9 W 3 1 99 Fife
(1) e (A), (B), (C) ¥R (D)

(2) 9 (B), (O), (D) 3 (E)

(3) A (A), (B), (D) ¥R (E)

(4) % (A), (O), (D) iR (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 126 Question Id : 5330726059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(Trade Name of chemical) (Chemical type)
(A) Bakelite (AYAF) (I)  Acrylic copolymer
(B) Vedril (If)  Polyethylene glucol wax
(C) PEG () Acrylic
(D) Paraloid (IV) PVA

Choose the correct answer from the Dpl’iDﬂS give:n below :

(1) (A)-(Im), (B)-(IV), (C)-(1), (D)-(II)
(2)  (ARIV), (BIHI), (C)-(II), (D)-(II)
3)  (A)-IV), (B)-(II), (C)-(II), (D)-(0)
(4)  (A)IV), (B)-(I), (C)-(II), (D)-(I)
Options :

1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 5330726059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eit-1 § F-11 1 foer S ;
geit-1 eii-11
( TATET T AR ] ) ( TrETafTE YT )
(A) SFEES (STEE-AYAF) (I) Wehifcrk et
(B) =@ (I)  OrATaferef Tereehie Se
(C) U7 (PEG) (1) hiferer
(D) RIS (IV) =t T (PVA)
A fou U faeredl # 9 W& I T HWC ;
(1) (A)-(I0), (B)-(IV), (O)-(I), (D)-(II)
(2)  (A)-IV), (B)AI), (C)-(II), (D)-(IT)
(3)  (A)HIV), (B)-(ID), (O)-(I), (D)~(1)
@) (A)IV), (B)AIIL), (O)-(1I), (D)-(I)
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 5330726060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Symptom of Bio deterioration) (Type of object)
(A) Foxing (I)  Wooden object
(B) Permanent disfigurement (II) Leather object
(C) Powder formation (IlT) Paper
(D) Bad smell (IV) Photograph

Choose the correct answer from the options given below :
(1) (A)-(I), (B)~(11), (O)-(IV), (D)-(I)
(2)  (A)-(ID), (B)~(1V), (O)-(D), (D)-(1I)
(3)  (A)-(IL), (B)~(I), (O)-(IV), (D)-(II)
(4) (A, (B)-(I), (CO)-(1V), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 5330726060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Tei-1 THt-11
(e Ut () % e ) (T, T YHT)
W e () wrs-aEg
(B) T faEqm (I =H-a%
=0 o (1) 9%
(D) T (IV) RRETE

= feu U fashedi © O W& 3T % 999 FifaU
(1) (A1), (B)-(1D), (O)-(1V), (D)-(I)
(2) (A, (B)AIV), (O)~(D), (D)-(I)
(3)  (A)-(1), (B)~(I), (O)-(IV), (D)-(1I)
4) (A)ID, (B)-(LL), (O)-(IV), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 128 Question Id : 5330726061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II

(Light Name) (Wavelength range)
(A) Uliraviolet Rays (I)  Hi UltraViolet Ray
(B) Infra-red Rays (If) 300 - 400 nm
(C) Visible Rays (LII) 400 - 700 nm
(D) Day light (IV) more the 700 nm

Choose the correct answer from the options giv en below :

(1) (A, (B)(1D), (©)-(IV), (D)-(1)

(2) (A1), (B-(IV), (C)-(I), (D)-(I)
(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)
(4) (A1), (B)-(IV), (C)-(I1L), (D)-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 5330726061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Geil-1 9 geii-11 1 faerm wifsm

Tefl-1 qHl-11

( WeRTYT <RT =TT ) ( FTTeed o)
(A) STeEmEee (W) R () 3= QU foReoi
(B) TmINE feptul (I) 300 - 400 nm
(C) <99 forol (II) 400 - 700 nm
(D) fea %1 e (fearene) (IV) 700 nm ¥ 37ferm

= feu o foeredi © O W& I 994 HfAU
(1) (A)-(I), (B)-(IL), (O)-(IV), (D)-(I)
(2) (A1), (BR(IV), (C)-(II), (D)-(ILI)
(3)  (A)-(1D, (B)-(ILL), (O)-(L), (D)-(IV)
(4)  (A)-(ID, (B)-(IV), (O)-(1D), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330726062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Display aid) (Purpose)
(A) Photograph (I)  Shape, symbol numbers
(B) Sketch (I) Produced by camera
(C) Diagram (II) Outline drawing
(D) Figure (IV) Schematic representation

Choose the correct answer from the options given below :
(1) (A)-(I), (B)I), (C-(IV), (D)-(ID)

(2)  (A)-(1D), (B)-(LL), (C)-(1V), (D)-(I)

(3)  (A)-IV), (B)-(D), (C)-(II), (D)~(1LD)

(4) (A)-ID), (B)-(IV), (O)-(D), (D)-(1II)

Options :

1.1



2.2
3.3
4.4

Question Number : 129 Question Id : 5330726062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gat-1 § -1 1 frar #ifs
geit-1 g1
(WYl Ter) (3EEvd)
(A) THRITE (I) SR, Ydilsh, &
(B) FH (1) AT BN Y
(C) B (1) wfeteEn Wi (HAREearRd EM)
(D) A (RMR) (IV) Ao YR
A feu o faswed # 9 9@ W H T FfAC

(1) (A, (B)-(1), (O-(IV), (D)-(1I)
(2) (A1), (B)-(), (C)-IV), (D)-I)
3)  (A)-IV), (B)-(I), (C}(II), (D))
@) (A1), B)-(IV), (O)-(1), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330726063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Object) (Display aid)
(A) Textile (I)  Photograph
(B) Coin (II)  Flip-book
(C) Manuscript (III) Diorama
(D) Natural history (IV) Mannequin

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(ILD), (C)-(IV), (D)-(I)
(2)  (A)-IV), (B)-(D), (C)-(II), (D)~(11D)
(3)  (A)-(I), (B)~(IV), (O)-(D), (D)-(1)
(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330726063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 -1
(o) ( wegt |rer )
(A) &%= () THREATE
(B) Taa () 1= IH
(C) umgfafy (1) e (ffem fesrere)
(D) WTRfdek 3hded (IV) qae

= fou 7o fasedi H 9 W 3T 1 999 Ff9C
(1) (A)-(1D), (B)-(I1D), (CO)-(IV), (D)-(I)
(2)  (A)-(IV), (B)-(1), (C)-(1I), (D)~(I1)
(3) (A1), (B)~(IV), (O)-(1), (D)-(1I)
4) (A)-(1D, (B)-(IV), (O)-(1), (D)~(1IL)

Options :
1.1



2.2
3.3
4.4

Question Number : 131 Question Id : 5330726064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(Object Gallery) (Label)
(A) Painting (I) Individual label
(B) Minor antiquities (I) Caption label
(C) Sculptures (III) Group label

(D) Art and Craft gallery (IV) Intrinsic label
Choose the correct answer from the options given below :

(1) (A1), (B, (C)-(1), (D)-(1)

(2) (A, (B)-(V), (O)-(1), (D)-(IL)
(3) (A)-(I), (B)-(I), (C)-(1IV), (D)-(1I)
(4) (A)-(10), (B)-(IL), (C)-(IV), (D)-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 5330726064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tel-1 -1

(ae /et (St )) (rae )
(A) HfEm () Al dad
(B) o e (1) s o
(C) Hfd (I11) \rfeed e

(D) e ud foreq <t (IV) SFaya orera
= feu U faskedi W 9 Wel 3T A A4 HifSQ ;
(1) (A)-IV), (B)~(IID), (O)-(I), (D)-(I)
(2) (A1), (B)-(1V), (O)-(I), (D)-(II)
(3) (A)-(II), (B)-(I), (C)-(IV), (D)-(IT)
(4)  (A)-(1D), (B)-(1ID), (C)-(IV), (D)-(T)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330726065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - 11

(Book) (Author)
(A) Museum of India (I)  Dhriti Ray
(B) Directory of Museums in India (I) Anupama Bhatnagar
(C) Museum, Museology and New Museology  (II[) Mahua Chakraborty
(D) Museum Information Service (IV) Usha Agarwal

Choose the correct answer from the options given below :
(1) (A)-(), (B)AIV), (C-(ID), (D)-()

(2)  (ARIV), (B)(I), (O)(I), (D)-(1T)

(3) (A, B)-0), (©-(1V), (D))

(4) (A, (B)}-(I), (CHIV), (D)-(IT)

Options :

1.1



2.2
3.3
4.4

Question Number : 132 Question Id : 5330726065 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TEit-1 8 gEit-11 =1 faem i

( )( ( {IH) { ]{) (D)-(I)
(A)-(10), (B)-(1), (C)-(1V), (D))
(A)-(I), (B)-(1), (C-(1V), (D)-(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330726066 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TET-11
(vE )
(H Yz
(L) STFTH HETR
(L) #g =kl
(IV) 391 e



Match List - I with List - I1.

List -1 List - II

(Object) (Museum)
(A) National emblem the four-lion capital (I) Salarjung Museum
(B) Dancing girl of Mohenjodaro (I)  Bihar Museum
(C) Didarganj Yakshi (I) Sarnath Museum
(D) Veiled Rebecca (IV) National Museum

Choose the correct answer from the Dpt'ums given below :

(1) (A)-(10), B)-(1), (O)-(IV), (D)~(LI)
(2)  (ARIV), (B, (C)-(ID), (D)-(I)
(3)  (A)H(II), (B)<IV), (C)-(ID), (D)-(T)
@ (A1), (B)-(1V), (C)-(D), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 5330726066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Geit-1 9 -1 = e wifsm

el-1 -1

(%) ( ATEreTy )
(A) UL Wefiw - “ER A e’ () WIS §UEed
(B) WETSIgSl T SifE e’ (I fo=R HeweE
(C) <rers T (L) TRAY Hererd
(D) FErjfad Toeh (See o) (IV) T Gaeerd
A fou U foskedl H 9 W& I A T HI9C ;

(1) (A1), B)-0), (O)-(IV), (D)-(I)
(2)  (AIV), (B)-(I), (C)(ID), (D)-(I)
(3)  (A)-(Im), (BIV), (OID), (D)-(I)
@) (A1), B)-IV), (C)-I), (D)-(IM)
Options :

1.1



2.2
3.3
4.4

Question Number : 134 Question Id : 5330726067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(Symbol) (Meaning)
(A) Ropei (Pash) (I) Wisdom
(B) Counch (II) Praan (Life)
(C) Bull (II) Water (Purification)
(D) Elephant (IV) Fertility

Choose the correct answer from the options giv en below :

(1) (A)D), (B)-(II), (O)-(IV), (D)-(IT)

(2)  (A)(ID, B)-(I), (O-(IV), (D)-(I)
(3) (A1), (B)-(l1), (C)-(IV), (D)-(I)
(4) (A1), (B)-(IV), (C)-(I1L), (D)-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 5330726067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tel-1 -1

( weiteR ) (31ef )
(A)  TEHT (9mer) () dfgaH
(B) ¥ ) W (Sfe)
(C) T (S) (D) 51 (YEF)
(D) @i (IV) WS &

= feu o fasedi H 9 W I 994 Fif9
(1) (A)(I), (B)}-(LI), (CO)(IV), (D)~(IL)
(2) (A1), (B)-(I), (O)(IV), (D)~(I)
(3) (AL, (B)-(11D), (O-(V), (D)-(D)
4) (A1), (B)-(IV), (O)-(UL), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330726068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 11
(Terms) (Function)
(A) Indexing ()  Data entry of objects in the register, assigning a permanent
number
(B) Cataloguing (I) Categorization of information to locate object
(C)  Accessioning (Il) Permanent removal of objects from accession register
(D) Deaccessioning (IV) Assigning an object to a classification system

Choose the correct answer from the options given below :
(1) (AJ(L), (B}-V), (C-(1), (DHII)

(2) (AR, (B)-(1V), (CH(), (D}
() (AL, (B)-(1), (CHIV), (DHII)
(4) (A, B)-(IV), (CH1D), D)1

Options :



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330726068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt 8 11 1 e i ;
Tl Tef-11
(Terms) (%)
(A) HOE (SERe) (1) SR W e 1 < vt T e i s
(B) FHE () &% 1 T FuR o foe g &1 gofa
(C) T (IIT) ftoren ofseent § segedl o W B § 2o
(D) areTasR (IV)  afiereon ol ¥ foreft g 1 = feien
A feu T forredl | | W S T FI
(1) (A}ID, (B)-V), (C)-{l), (D){L)
(2) (A}, (BHIV), (CHD, D)(I)
() (A}, (B)-0), (CHIV), (D)-(Im)
(4) (A, B)HIV), (CHI, (D)0
Options:
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 5330726069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the Museum with their locations.

List - I List - II

(Museum) (Location)
(A) Kite Museum (I)  Ahmedabad, Gujarat
(B) Bharatiya Lok Kala Mandal Museum (II) Lucknow, UP
(€) D.N. Majumdar Folk Art Museum (IT) Joka, West Bengal
(D) Gurusaday Museum (IV) Udaipur Rajasthan

Choose the correct answer from the options given below :
(1) (A)-(0), (B)-(IIL), (C)-(II), (D)-(IV)

2) (A1), (BHIV), (C)-(II), (D)D)
3)  (A)-(I), (BHIV), (C)-(I), (D)-(II)
4 (A)-(0), (B}-(I), (C)-(I0), (D)-(IV)
Options :

1.1

2.2

3.3
4.4

)
) (B

D), (B
D), (B

Question Number : 136 Question Id : 5330726069 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

geit-1 9 gEi-11 = faem =ifsm
i1 -1
(|uEreTa) (¥ )
(A) TG (M) HUREH (I) TEYEETE, TS
(B) YR ek el Hew TUaeH (I) TG, ITW e
(C) .U, HIHER @i holl GUererd (L) frept, gfv=m S
(D) TEHEA HURTH (IV) TR, TSI
A fou U faskedl H ¥ W& 3T H T HIC ;
(1) (A)-(D), (B}-(II), (C)(1), (D)-(IV)
(2) (A, (BHIV), (C)-(IIL), (D)-(IT)
(3) (A1), (BRIV), (C)-(II), (D)-(Im)
) (A)-(0), (By-(I), (O)-(I0), (D)-(IV)
Options :

1.1



2.2
3.3
4.4

Question Number : 137 Question Id : 5330726070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1.
List - 1 List - 1I
(Book) (Author)
(A) Museum Basics (I)  Timothy Ambrose and Crispin Pain
(B) A History of Fine Arts in India and the West (II) ~Gail Dexter & Barry Lord
(C) The Manual of Museum Management (1) Bernard M. Feilden
(D) Conservation of Historic Buildings (IV) Edith Tomory

Choose the correct answer from the optiuns given below :

(1) (A)), (B}(IV), (CH{I), (D)
(2 (AHI), (B)-(I), (C-(I), (D}-AV)
() (AHIV), (B)-0), (C)(I), (D)
(4) (A1), BRI, (CHIV), (DHT)
Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 5330726070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 9 i1 1 e it

-1 -1
( T ) (o )
(A) o Sfe () fomeht wsirg el forefir T
(B) UTE &% P oeH A SeAM e AR ([) Tl S SN o Ale
(O e e gfvam T () =€ T, Hieed
(D) FIaYM 1 fewifen fafeet (V) tfee 2
e fo T fersed § & Wl I 1 T FIIC
(1) (ARI), B}IV), (CHI), (D)
Q) (AHD), (B}-(IL), (C)-(I), (D)-(IV)
() (A)HIV), (B, (C)-(I), (D)-(1m)
(4 (ARI), BRI, (CH(IV), D))
Options
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 5330726071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IL
List -1 List - II
(Italian method of transfer) (position of painting)
A) Stacco a Massello (I)  Only paint layer
De-stacco (I)  Background layer of painting
Arriccio (1) Block lifiting
Strappo (IV) Stacco (Paint layer + portion of paint)

B)
0
D)
Choose the correct answer from the Dptiuns given below :

() (AMI), BHID, ©)-1V), (D)0
(2 (AHD, (BHI), (OIV), (D)
(3) (A, (B)-(ID), (O)-(Iv), (D)-(])
(4)  (AHI), BHIV), (O, (D)-0)

Options :



2.2
3.3
4.4

Question Number : 138 Question Id : 5330726071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feit-1 § G-I 1 e i
Teil-1 G-I
( 3T i gerera farer ) (‘HfeT @ W)
(A) TR T A () Faw ¥ H T
(B) Sl (I gfém = geeyfy #i 9w
(C) U (Ltr) = fefre
(D) ¥ (IV) ¥ (U= H1 TG AR 2 1 97)

e feu U fersred H | WE I A T HC ;

(1) (A)-(I), (B)«{ID), (C)-1V), (D)-(I)
(2)  (AHD), (B)(L), (CH(IV), (D))
(3) (A, (B)-(), (©-1V), (D)-()
(4)  (A)-(I), (B)(IV), (O, (D)-(1)
Options:

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 5330726072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List -1 List - II

(Conservation Laboratory) (Year of Establishment)
(A) National Research Laboratory for () 1930

the Conservation of Cultural Property
(B) Conservation laboratory in the Indian (I) 1950

Museum, Kolkata

(C) Conservation laboratory in the Madras (IIfy 1979
Government Museum, Chennai

(D) Conservation laboratory in the National (IV) 1960
Museum, New Delhi

Choose the correct answer from the options given below :

(1) (AL, (BHIV), (O, (DHI)

Q) (AKD), B-), OHIV), (D)

() (A-IV), (BHD, (CH(I), (D))

(@) (AHIV), (BHI, (OHI, (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 5330726072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TEit-1 8 gEi-11 1 fer s

-1 Te-11
(FTETOT FEATYE ) (T 9 )
(A) g HERfa Guft S STEYE Wren () 1930
(B) I HUB T FAMTIEl (I) 1950
(C) WeTH USTehId GRTerd S0 Jarmener, 9=1s  (II) 1979
(D) T FUgIerd HE0 FanTen, 7% fewe (IV) 1960

A fou 7o ferspedl ® 9 W& 39 H =TI HIC ;
(1) (A1), (B)AIV), (O)-(I), (D)-(I)
(2)  (A)-(ID), (B)-(ID), (C)-IV), (D)-()
(3)  (A)-IV), (B)-(I), (C)-(I), (D)-(II)
(4)  (A)-IV), (B, (C)-1D), (D)-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 5330726073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the books with their (Authors/Editors).

List - I List - II

(Book) (Author)
(A) Conservation of Works of Art (I) Gary Edson
(B) Interpreting Objects and Collections  (II) H.J]. Plendernith
(C) Museum Exhibition (IlI) Susan M. Pearce
(D) Museum Ethics (IV) David Dean

Choose the correct answer from the options given below :
(1) (A1, (B)-(ILD), (C)-(IV), (D)-(I)
(2) (A, (B)-(ID), (C)-(T), (D)-(V)
(3)  (A)-(ID), (B)-(T), (O-(IV), (D)-(II)
(4) (A)-(I), (B)-(ID), (C)-(D), (D)-(IV)

Options :
1.1



2.2
3.3
4.4

Question Number : 140 Question Id : 5330726073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 THt-11
(TR ) (TrE® )

(A) THISEGT 3 T E 2 () 7 wesH

(B) TR SRy US #hoiarg (1) TH. S ®iveiHYy
(C) wfSaw uesifaw™ (I) HEH TH. 9IH
(D) o TieE (Iv) sfag M

= fou 7o fasedi § | Wal 39 Skl 99 F ;

() (AL, (B)-(I1), (©)-(1V), (D)-(L)

(2) (A1), (B)-(ILI), (C)-(1), (D)-(IV)

(3)  (A)-(ID), (B)-(D), (O)-(1V), (D)~(LL)

(4) (A, (B)~(1D), (©)-(I), (D)-(IV)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072240
Question Shuffling Allowed : No

Question Id : 5330726074 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and answer the questions.

The formative phase ranged from the fourth to seventh century. During this period, large-
scale writing, Sanskrit learning, Vedic rituals, spread of Buddhism and Brahmanism evident in the
eastern part of India Cultural contacts with the Gupta Empire stimulated the spread civilization in the
eastern zone North Bengal and North - West Odisha come under Gupta rule. The Gupta influence can
be inferred from due use of the Gupta era dates in inscriptions In Bengal new states were formed by
feudatories, who maintained a substantial number of elephants, horses, boats etc., in their military
camps. There is evidence of private property in land, and the use of gold coins, all that presupposes an
advanced food producing economy. Kalidasa refers to the transplantation of paddy seedlings in Vanga.
There is no doubt about cultural evolution and development of civilization in the eastern zone.

Sub questions

Question Number : 141 Question Id : 5330726075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What according to the passage denotes a formative phase of any civilization ?
(I) Agricultural practices

(2)

(3) Evidential spread of writing and learning
9)

(4) Ritualistic practices

Options :
1.1
2.2
3.3
4.4

Livjng In a socie ty

Question Number : 142 Question Id : 5330726076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What indicates the relation of Bengal with the Gupta Empire during fourth to seventh centuries ?
(I) Spread of Buddhism and Brahmanism in Bengal during fourth to seventh centuries

2)  Presence of Gupta era dates in inscription found in eastern part of India
3

4)  Gupta empire was expanded in North-Bengal and Odisha

(
(3) Central contact with Gupta period
(

Options :

1.1

2.2

3.3

4.4



Question Number : 143 Question Id : 5330726077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

State one important character of a feudal state.

(I) It has a developed agricultural system

(2) It maintain well developed army
(3) It maintain trade with other states
(4) Culturally developed society
Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 5330726078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What measures the prosperity of a civilization ?
(I) Use of gold coins in trade

) A feudal rule
(3)  Areligious state

) Holding private property

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330726079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What states that paddy had grown in Bengal during fourth to seventh centuries ?
(1)  Cultivation of food producing crop

(2) Mention in Kalidas account
(3) Society was prosperous

(4) A feudal rule in Bengal
Options :

1.1

2.2



3.3
4.4

Question Id : 5330726074 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

et Tern st ufgd oit S Wi Wi o v e ¢

SR 0 Nl % e ) o el 50 1| 39 e W O % T S S YA O,
e 1T, S SR, g A 1 TR T e o 61 foe & | T E % W Wi 6
< et T o IR B0 9 | T At R - e T WA o el 2| T e
e ) aAferal T 7 1 oo o A et e o R R | R ] g 7 O e e
T4 9, TorFek 52 o ST) W0 ¥ 1, 48, e 3 T S 91 4 % 6 ol ufel i S of il o
T 2 Bt 30 R S A §a T W €| e A o oW E A o T S
fom &1 et o e & ipfeek SR AN e o e ¥ 9 WM T R

Sub questions

Question Number : 141 Question Id : 5330726075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
T % AR ot gear & stRfys = 6 @ ggfad s €2
(1) Y gorred
(2) HHE H S g9
3) oA SR YT % TR % Hisd
(4)  STISSTHE ger
Options :
1.1
2.2

3.3
4.4

—

Question Number : 142 Question Id : 5330726076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



<Neft B Tl Vet % S T G & Y S % Gy B @ S e €7
(1) <ot | G ] & SRE S § g SH SR FRIvEE F 76

(2) YRA % qa 9 H g st # T fareal i sufef
(3) T o % WY W (TR qToh

(4) T G I JER ST G § e @@ o

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 5330726077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It T T Hecaqyl famerd adrsy |
(1) o fomwfaa iy gomedt of

(2) =l glaekfaa |1 ot

(3) A U % HIY AR Fd 9
(4) 3 iERfa w9 Y forepfaa qame o

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330726078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fordt wozman =1 |gfs 1 HIOF 1 € ?
(1) =A9R ¥ 07 THeeRl 1 9=
(2) HIH ITEA

(3) s =

(4) TS Ul SO s

Options :
1.1



2.2
3.3
4.4

Question Number : 145 Question Id : 5330726079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frrfefin & 4 frd firg 21 & foF <t & ol st o < el 8 o 8 e S S 47
(1) @ 3R T H gl

(2) HCRM & Faid § e

(3) TS G

(4) A 1 HIH I

CLad

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 533072241
Question Shuffling Allowed : No

Question Id : 5330726080 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions.
Unexpectedly the president of the Museum board arrives in your office with her sister. Her

sister has a fine collection of Italian landscapa pajnljng from the 15t & -16“‘ centuries and she wants to
exhibit them at the Museum.

As a director, you want to keep the president of the board happy but this exhibit is totally
contrary to the mission of the Museum. You mentioned the mission to the president, but she suggested
‘it will be nice change of pace’ for the Museum visitors. The President believes that the visitors are tired
of seeing the 19" & 20" century portraits that are the primary focus of the Museum's collection.

The President directs you to make arrangements for the exhibits & to find room for the
paintings. She also instructs you to purchase insurance for the collection with Museum funds. You are
stunned and at loss for what to do ?

On the basis of the Paragraph answer the following questions.

Sub questions



Question Number : 146 Question Id : 5330726081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the main ethical issue presented in this scenario ?
(1) Conflict of ego

(2) Conflict of interest

(3) Museum mission to be compromised

(4) Insurance from the museum funds

Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330726082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following from the above statement found to be out of place ?
(1) Italian Landscape painting

(2)  19% & 20% century portraits

(3) Museum other collections

(4) Painting Gallery of the Museum

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 5330726083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As the director of the Museum, what would be your decision in this scenario ?
(1) To follow the president’s orders

(2) To raise the matter infront of higher authorities in writing

(3)  To seek legal opinion

(4) To ask the President to give in writing about sister’s exhibits at the museum
Options :

1.1

2.2



3.3
4.4

Question Number : 149 Question Id : 5330726084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of the Museum’s collection ?

(1) 115%™ & 16™ century Italian landscape painting

(2) Portraits of 19th & 20t century.

(3) New Painting that arrived afresh

(4) Any painting or portrait that is accessioned
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 5330726085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the justification given by the president to exhibit her sister’s painting collections in the
Museum ?
1) The Paintings are by legend any Painters

(

(2)  The Paintings belongs to her sister is collection

(3)  The painting will be break the monotony for visitors
(

4)  The paintings comply the mission of the Museum

Options :
1.1
2.2
3.3
4.4

Question Id : 5330726080 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Frfeifiam o ot wfgd o e waifem o & o i

TRTe o1 & e ) 5 & WY A T D A e O T €| S 9 &
1579 4% 1670 e e -2 O o S R ¢ o % S R Vel e et
¢l

T e 9 B T 91 o Ay ) T T R &, e 9% W SR # M % U
yfegel | A e % e o o Sy e, e SR o 4 A e 6 % T & i &
fere e 1 o W i & | A o A o i 1990 | A 20 v o Rl Al @
T &, ToF] 0 U o % 1 7 B ¢

FAY TV T e oot o ¥ F foe o 9w g @ fRm gw B o a
e & fafel R e o e o e a1 e of 3 &1 oo of T o € i 39 o @ o €
fe =01 fepen

Sub questions

Question Number : 146 Question Id : 5330726081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=9 IReyd § wega foran T e g ifans gea €2
(1) STEFR o oY

(2) Ted Hed

(3) Hueey F fuve % g g fean s

(4) Hugred = A= 9 =

Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 5330726082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § 9 =i sudEa F9A bR qran sme ?
(1) e g af=

(2) 1991 3R 209 v @ fast (dig2)

(3) HUETHE % FH GUE

(4) HUEEE F Uf= €



Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330726083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% e w9 H 3w ufigy H e fvi

(1) &A% & TRl 1 el F

(2) 3= Wit o wwe ferfied & | Hieer e

(3) Teftrer <A 9T

(4) 1A W HURTEE | ST a6 1 Yeul ok 9 | foifed ®9 7 & 1 FE
Options :

1.1

2.2

3.3
4.4

Question Number : 149 Question Id : 5330726084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GIRTe % HUE 1 YA Ty F1 ¢ ?

(1) 158 {1687 viameal =i sarere 4-gfvgs U=
(2) 193 3R 2040 wareEl % o

3)

() HEI=THea@d T
(4) =1 U2 fesm foreert wioe gt ©
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330726085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A G GURTed H S 9% 1 Ufen YeRi e % an § 7 aifac fem @ a2
(1) wer ferami g 4 Hfen o 3 §

(2) 4 R 3 R F WU HI ©

(3) A HfET SmiqeRl 1 A Gu

(4) A YT SURIEE % Ay ¥ STueH Fd ¢

Options :

1.1

2.2

3.3
4.4





